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CIFA PART II SECTION 4
EQUITY INVESTMENTS ANALYSIS
FRIDAY: 27 November 2020. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Explain the meaning of the following terms as used in equity markets:
(1) Circuit breaker. (2 marks)
(i1) Trading halt. (2 marks)
(iii) Program trading. (2 marks)
(iv) Short selling. (2 marks)
(b) Discuss two forms of abuse that could be found in the initial public offering (IPO) market. (4 marks)
(c) As a member of the Institute of Certified Investment and Financial Analysts (ICIFA), you have been invited to give a

talk to a graduate class of a local university on investment styles that portfolio managers could use in stock picking.

Required:
With reference to above statement, discuss four types of investment styles that you would include in your
presentation.
(8 marks)
(Total: 20 marks)
QUESTION TWO
(a) Explain the following terms in relation to technical analysis:
(1) Uptrend in market. (2 marks)
{i1) Downward trend in market. (2 marks)
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(b) The following technical analysis chart was obtained from a trading channel in one of the leading Securities E;atchanﬁﬁQ
in the world: O{Q
&
Support and Resistance Trading Channel &
Mlcrum& (MSFF}, SYear, 1 Week Interval Price Charl:} 3 A" 2252

Resistance Lewei

Srien o

- @ Sensatus
Jul-2001 m-a«:oz JI-2002 Dec-2002 sun.znoa Dec-2003 Jun-2004 Now-2003 May-2005 Mow-2005 May.201

Required:

Using the chart above, interpret the following:

(1) Resistance level. (2 marks)
(ii) Support level. (2 marks)

(iii) Describe the investment strategy that an investor should apply at resistance level and support level in (b) (i)
and (b) (ii) above, (2 marks)

(c) An equity analyst has gathered the following data for Pioneer Manufacturing Ltd.:

e Beta 115
e  Market price per share Sh.30
» Risk-free rate 4.50%
e Expected market return 14.50%
e Recent year dividend per share Sh.1.72
e  Earnings per share (EPS) and dividend growth rate:
- First 3 years 12% per annum
- Years thereafter 9% per annum
The analyst seeks to use a two-stage dividend discount model (DDM) and the capital asset pricing model
(CAPM) to value the company’s shares.
Required:
(1) Estimate the intrinsic value of the company’s share. (5 marks)
(11) Advise an investor on whether the share should be purchased by cnmparmg the intrinsic value in (c) (i) above

with the current market price per share of the company. (2 marks)

(ii1) Describe one strength of the two-stage dividend discount model (DDM) in comparison with constant growth

DDM. (2 marks)
(iv) Describe one weakness inherent in all dividend discount models. (1 mark)
(Total: 20 marks)
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QUESTION THREE
(a) You are a financial analyst at Fedha Financial Consultancies Limited. The Chief Investment Officer ['CI@as
presented you with the following information regarding Zanplom Limited, a leading soft drinks manufactu‘;%ﬂl the
East Africa Region: fb'
B In the current financial year (year 0) Zanplom Limited is expected to generate net income h.25 million.
Depreciation is expected to be Sh.18 million, gross investments in tangible assets will b .26 million and
net working capital is expected to increase by Sh.4 million.
2 In the next three years, Zanplom’s free cash flows to the firm (FCFF) are expected to grow by 8% per
annum.
3. After year 4, FCFF is expected to grow in perpetuity at 6% per annum.
4. The company is financed with 40% debt and 60% equity which is expected to be maintained in foreseeable
future.
51 Two years ago, Zanplom Limited had issued a bond with a notional value of Sh.250 million. The bond is

currently trading at 80% of its par value. Annual interest expenses on the bond are Sh.15 million. The
company has no other interest-bearing debts.

6. The corporate tax rate is 30%.

W The cost of debt is 7% while the cost of equity is 11%.

8. The company has 21.5 million ordinary shares issued and outstanding.

Required:

Using two-stage FCFF, determine:

(i) The total value of the firm. (7 marks)

(ii) The market value of equity. (2 marks)

(111) The equity value per share. (2 marks)

(iv) Advise an investor whether to buy the company’s share assuming that they are trading at Sh.28.50 at the

Securities Exchange. (1 mark)

(b) The following information relates to two companies quoted at the Securities Exchange of your country:

Company Return on asset (ROA) Dividend retention rate Equity multiplier

Solaiz Limited 12% 40% 1.65

Talino Limited 12% 66.7% 2.00

Required:

(1) Sustainable dividend growth rates for both Solaiz Limited and Talino Limited. (3 marks)

(ii) Explain your results in (b) (i) above. (1 mark)
(c) The yield on a 10-year A rated corporate bond is 7.5%. The long-term sustainable earnings growth rate is 5% and the

weighting factor for the importance of earnings growth is 0.15. The current trailing price to earnings (P/E) ratio for the
equity market is 15.

Required:
(i) Determine whether the equity market is properly valued using the Yardeni model. (3 marks)
(ii) Qutline one limitation of the Yardeni model. (1 mark)
(Total: 20 marks)
QUESTION FOUR
(a) In the context of residual income model:
(1) Examine three circumstances in which it is appropriate to use the residual income model in equity valuation.
(3 marks)
(ii) Highlight three weaknesses of residual income model in equity valuation. (3 marks)

(b) Kangaloo Ltd.’s shares are currently selling for Sh.38.50, with trailing twelve month (TTM) earnings per share (EPS)
and dividends per share (DPS) of Sh.1.36 and Sh.0.91 respectively. The company’s price to earnings (P/E) ratio is
28.3, price to book (P/B) is 7.1 and price to sales (P/S) is 2.9. The return on equity (ROE) is 27% and the profit
margin on sales is 10.24%. The risk free rate is 4.9%, the equity risk premium is 5.5 and company’s beta is 1.2. The
dividend and earnings growth rate is 9%.
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Calculate the following multiples: .{QO
(i) Justified trailing price to earnings (P/E). (3 g&s)
(ii) Justified price to book (P/B). : é\marks)
(iii) Justified price to sales (P/S). §(3 marks)
(iv) Determine, based on fundamentals, whether Kangaloo Limited is fairly valued, overvalued or undervalued.
(1 mark)
(c) An analyst notes that for the year just ended. Bingwa Ltd. cost of goods sold was 30% of sales. To forecast the firm’s

income statement for the current financial year, the analyst assumes that all companies in the same industry will
experience an inflation rate of 8% on the cost of goods sold.

The analyst also forecast on the price and volume changes as follows:

e  Awverage price increase perunit.  5.00%

° Volume growth -3.00%
Required:
The firm’s forecasted gross profit margin for the current financial year. (4 marks)
(Total: 20 marks)
QUESTION FIVE
(a) HQ Limited has invested Sh.100 million in assets. The after tax operating income on the assets in place is Sh.15

million. The return on capital of 15% is expected to continue in the future. The company’s cost of capital is 10%. At
the beginning of each of the next five years, the company is expected to make an investment of Sh.10 million each
year. These investments are also expected to earn 15% as a return on capital and the cost of capital is expected to
remain at 10% . After year 5, the company will continue to make investments and earnings will grow at a rate of 5%
per annum, but the new investments will have a return on capital of only 10% which is also the cost of capital. All
assets and investments are expected to have infinite lives.

Required:

The value of the company using the economic value added (EVA) valuation approach. (8 marks)
(b) The following information has been extracted by Hiza Securities Limited from Panda Food Processors Limited:

e  Working capital balance Sh.2,000,000

e Fair value of fixed assets Sh.5,500,000

e Book value of fixed assets Sh.4,000,000

¢ Normalised earnings of firm Sh.1,000,000

* Required return on working capital 5%

e Required return on fixed assets 8%

e Weighted average cost of capital 15%

¢ Long-term growth rate of residual income 5%

Required:

Using an Excess Earnings Method:

(1) Determine the value of Panda Food Processors Limited’s intangible assets. (2 marks)

(ii) Determine the market value of invested capital. (2 marks)
(c) Lately, ABC Limited has experienced financial difficulties due to prolonged Corona Virus Pandemic in the country.

As a result, dividends are expected to grow at a reduced rate of 2% for the next 2 years and return to its historical rate
of 5% there after. The last dividend paid was Sh.2 per share and the cost of equity capital is 15%.

Required:
The market value of ABC Limited’s share today. (4 marks)
(d) HornBill Limited just reported earnings of Sh.11 per share, giving the company a book value of Sh.91.50 per share.

The required rate of return on the share is 11%. The company’s dividend payout ratio is 40%. The company adopts a
constant dividend growth rate.

Required:
The company’s intrinsic value. (4 marks)
(Total: 20 marks)
CF41 Page 4
Out of 4




Present Value Interest factor of 1 Received at the End of n Periods at r Percent:

PVIF . n=1/(140)" =(1+0)"

Penod 1% % b 4% i B ) Th 8% 5% 10% 1% 12% 1% 14% 15% | T 16% 20%
1 09901 05804 | 09705 | 09615 | 00524 | 09434 | 09346 | 09259 | 0.9174 | 06091 | 0.9009 0.8929 | 0.8850 | 08772 | 08696 | 0.8621 | 0.8313
2 08803 | 09612 | 0.0426 | 09246 | 0.9070 | 08000 | 08734 | GASTI | 08417 | 08764 | 08196 | 07972 | 07831 0.7E85 | 07561 | 0.7432 | 06944
3 05706 | 05423 | 09151 | 08800 | 0.8638 | 0.8306 | 68163 | 07938 | 09722 | 07513 | 67312 | 07118 | 06931 0.6750 | G.8575 | D.6407 05@
4 0.961¢ | 09238 | ossas | omses | 08227 | 07921 | 07629 | 67350 | 67084 | 06830 | 0.6587 | 0.6355 | 0.6133 | 0.5821 | 05718 | 0.5523 | 04823 | 04350 04096 | 03501 |
] 008515 | 09057 | 08626 | 08219 | 0.7835 | O.7473 | 07130 | 06806 | 0.5499 | 0.8209 | 05935 | 0.5674 | 05478 | 0.5194 | 04972 | 04761 04019 | 63411 | 03377 | 02683
8 00420 | 0p8e0 | 08375 | o7l | 07462 | 0.7050 | 05663 | 06302 | 6.5963 | 0.5645 | 0.5346 | 0.5066 | 0.4803 | 0.4556 | 0.4323 | 0.4104 | 0.3349 02751 02621 02072
7 04327 | 08706 | 08131 | 07560 | 07107 | 0.6651 | 0.6227 | 05835 | 05470 | 05132 | 0.4817 | 04523 | 04251 | 03096 | 0.3759 | 03538 02791 | 0248 | 0.2097 | 0.1504
B 00235 | 0.8535 | 07894 | 07307 | 06768 | o.6274 | 05820 | 0.5403 | 05010 | 0.4665 | 04330 | 04030 | 093762 | 03506 | 0.3260 | 0.3050 | 0.2396 | 0.1789 | 0.1678 | 01206
& 09143 | 08368 | 0.7664 | 07026 | 06446 | 05019 | 05430 | 05002 | 04604 | 6.4241 | 03909 | 03606 | 0.3320 | 0.3075 | 02843 | 62630 | 0.1908 | 09443 0.1342 | 0.0043
10 09053 | 08203 | 0744t | 05756 | 06130 | 05584 | 05083 | 0.4632 | 04224 | 03855 | 0.3522 | 0.3220 | 0.2946 | 02697 | 0.2472 | 02267 | 0.1695 | 01164 | 0.1074 0.0725
11 06963 | 08043 | 07224 | 06496 | 0.5847 | 05268 | 04751 | 0.4289 | 03875 | 03505 | 03173 | 0.2B75 | 0.2607 | 0.2366 | 02149 | 0.1954 01346 | 0.0838 | 0.0859 | 0.0558
12 0.8874 | 0.7885 | 07014 | 06246 | 05568 | 64970 | 04438 | 03971 | 03555 | 0.3186 | 0.2858 | 0.2567 | 0.2307 | 0.2076 | 0.4860 | 0.1885 | 0.1122 | 0.0757 00687 | 0.0425
13 08787 | 07730 | 0.6810 | 0.5006 | 0.5303 | 0.4688 | 0.4150 | 0.3577 | 03062 | 0.2897 | 0.2575 | 02292 | 0.3042 | 0181 01825 | 04452 | 90935 | 00610 | 0.0550 | 0330
1 0.8700 | 07578 | 06611 | 05775 | 05051 | 04473 | 03878 | 03405 | 03992 | 0.2633 | 0.2320 | 0.2046 | 0.1807 | 0.1507 | 0.1413 04252 | 00779 | 0.0492 | 00440 | 0.0254
15 08613 | 07430 | 0.5410 | 05553 | 04816 | 04973 | 03624 | 03152 | 02745 | 03304 | 02090 | 0.1827 | 4.95090 | G.1401 0.1229 | 09078 | 0.0649 | 00297 | 00352 | 0.0985
16 08528 | 0.7284 | 0.6232 | 05335 | B8.4581 03936 | 03387 | 02018 | 02519 | 02976 | 01883 | 01631 | 01415 | 0.1729 | 09069 | (0930 | 0.0541 0.0320 | 00281 00150
7 08444 | 07142 | ososo | 05134 | 04365 | 03714 | 03186 | 0zred | 02511 | 04078 | 01696 | 01456 | 0.1252 | 64078 | 0.6920 | 0.0802 | 0.0451 0.0258 | 6.0225 | 00116
18 0.8360 | 07002 | 05874 | 04936 | 6.4155 | 03500 | 02050 | 62502 | 02120 | G795 | 0.1528 | 01300 | 0.1108 | 0.0946 | 0.0808 | 0.0691 0.0376 | 0.0208 | 00180 | 0.008%
12 08277 | 056864 | 05703 | 04746 | 03957 | 03305 | 02765 | 02317 | 01945 | 0.1635 | Q1377 | 01161 ©.0081 | 0.0820 | 00703 | 0.0596 | 0.0313 | 0.0168 | 0.0144 | 0.0068
20 08185 | 06730 | 05537 | n4564 | 03768 | €318 | 02584 | 0445 | 01784 | 0.1486 | 0.1240 | 0.9037 | 0.0868 | 00728 | 0.0611 00514 | 00251 0.0135 | 00115 | 0.0053
21 08114 | 05508 | 05375 | 04388 | 09580 | 02042 | 02495 | 04987 | G637 | 64351 | 01117 | 06026 | 0.0768 | 0.0638 | 0.0531 0.0443 | 00217 | 0.0100 | 0.0092 | 0.0040
2 08034 | osase | 05219 | 04208 | 03418 | 02775 | 02257 | 04839 | 04502 | 04228 | 0.1007 | 00826 | 0.0680 | 0.0560 | 0.0462 | 0.0382 | G.0181 00088 | 00074 | 0.0031
3 07954 | 06342 | 05057 | 0.4057 | 03256 | 02618 | 02100 | 04703 | 01378 | 01117 | 0.0007 | 00738 | 0.0601 | 0.0491 00402 | 0.0329 | 0151 00071 | 0.0D50 | G.0024
Frs 0.7876 | 0617 | 04918 | 03991 | 03WN 62470 | 84971 | 01577 | 04264 | 04015 | 00817 | 0.0659 | 0.0552 | 0.0431 00340 | 00284 | 00126 | 0.0057 | 0.0047 0.0018
-1 0.7798 | 0.6095 | 04776 | 03751 | 02053 | 02330 | 04842 | 04460 | 01960 | 00923 | 00736 | 0.0588 | 0.0471 | 0.0378 | 0.0004 | 0.0245 | 0005 | 0.0046 00038 | 0.0044 |
30 - 0.7418 | 0.552% 04120 | 03083 | 02314 | 04741 | 61314 | 00994 | 00758 | 0.8573 | 0.0437 | 0.0334 | 0.0256 | 0.0196 | 0.0151 00116 | 00042 | 00016 | 0.0012 a

- 07058 | 05000 | 03554 | 02534 | oaes | 04301 | 00837 | 0.0676 | 00480 | 0.0356 | 0.025% | 0.0188 | 00130 | 0.8102 | 0.0075 | 0.0055 | 0.0017 | 0.0005 s G
36 06985 | 04002 | 03450 | 02437 | aa727 | 04227 | 00875 | 00626 | 00445 | 0.0323 | 00234 | 00150 | G423 | 00089 | 0.00G5 | 0.0048 | 0.0014 = =
40 06717 | 04529 | 03066 | 02083 | 04420 | 00072 | 0.0668 | 0.0460 | 00018 | 00221 | 60154 | 0.0107 | 0.0075 | 0.0053 | 0.0037 | 0.0026 | 0.0007 = A

_HI BLEDO_E 03715 0.2181 0.1407 | 0.0872 | 00543 | 00338 | 0.0213 | 08134 II.NL 0.0054 | 0.0035 | 0.0022 | 0.0014 | 0.0002 | 0.0006 " x
Present Value Interest factors for Annuity of 1 Discounted at r Percent for n Periods:
PVIFA . n=[1—=1/(1+1) "] /r

Peiod | 1% | 2% e | &% 5% 6% T | 8% 0% L 11% 12% 1% | e 15% 16% 0% 24% 5t 0%
1 £.0001 | 090804 | 05709 | 09615 | 00524 | 00434 | 00046 | 09250 | 0.9174 | G009 9000 | 08920 | 08850 | ABFT2 | 08636 | 0.8521 | 0.8333 | 0.8065 | 0.8000 | 0.7692
2 19704 | 19416 | 19135 | 1.8861 18504 | 18334 | 18080 | 17833 | 1.7591 | 17355 | 17125 | 1.6001 1.6681 1.6467 | 16257 | 1.6052 | 1.5278 | 1.4568 | 1.4400 | 1.3608
3 25410 | 25839 | 28286 | 277TH1 27232 | 26730 | 26243 | 25t | 25313 | 24889 | 24437 | 24018 | 23612 | 23216 | 22802 | 20450 | 21065 | 13813 | 1.9520 1.8161
4 39020 | 38077 | 3TN 36200 | 35460 | Ja4651 33872 | 33921 | 32397 | 34699 | 34024 | 30073 | 29745 | 290137 | 28550 | 27982 | 25887 | 24043 | 23616 24662
= 48534 | 47135 | 45707 | 44518 | 43705 | 42124 | 41002 | 30037 | 3Beu7 | 3700R | 36059 | 36048 | 35172 | 34331 | 33522 | 32743 | 20006 | 27454 | 2.6890 24356
& 57955 | 56014 | 54172 | 52471 | 56757 | 49173 | 47665 | 46229 | 44850 | 43553 | 42305 | 41114 | 29075 | 3.8887 | 37845 | 1EB47 | 33355 30205 | 20514 | 26427
i 67202 | 64720 | 67303 | 60021 57864 | 55824 | 53803 | 52064 | 50030 | 49684 | 47122 | 45638 | 4.4226 | 42883 | 4.1604 | 40385 | 36046 | 3242 | 39611 28041
B 76517 | 73255 | 70197 | 67327 | 64632 | 62008 50713 | 57466 | 55340 | 53349 | 54461 | 49676 | 47988 | 4.6083 | 44873 | 43436 | 38372 34212 | 33280 | 29847
s 85666 | B1622 | 7.7851 7835 | 74078 | 68017 | 65152 | s2us0 | Soo5p | 57500 | 55370 | 53282 | 51317 | 49464 | 47716 | 46065 | 40310 | 3.5655 | 14631 30190
10 94713 | BOE26 | 85302 | 81400 | 1727 | 73601 | 7.0235 67101 | 64477 | 6.1446 | 58892 | 56507 | 54262 | 52161 | 50188 | 48332 | 49925 36819 | 35705 | 3.0M45
i1 40368 | 07868 | 92526 | 87605 | 83054 | 7B860 | 74087 | 7.1390 | 6.8052 | 6.4051 | 62065 | 50377 | 5.6869 | 54527 | 52337 | 5.0086 43271 I775 | 3.6564 | 30473
12 11255 | 10575 | oos40 | o3851 | 8863 | 83838 | 78427 | 75361 | 74607 | 68137 | 6.4024 | 69044 | 59976 | 56603 | 54206 | 51871 | 44382 | 38514 3T 31803 |
13 12434 | 11348 | 10635 | 99856 | 93936 §8527 | 83577 | 7.9038 | 74860 | 71034 | 67409 | 64235 | 61218 | 58424 | 5580 53423 | 45327 | 30124 | 780 32233
14 13004 | 12906 | 11708 | 10563 | opops | 07050 | 87455 | B2442 | 74862 | 13667 | 60619 | 6.6282 | 6.3025 | 6.0021 57245 | 54675 | 46108 30616 | 38241 | 32487
15 13.885 | 12880 114538 11118 | 10080 | 57122 | 51079 | 855095 | 8.0607 | 76061 | 7.1909 | G105 | 64624 | 61422 | 58474 | 55755 | 46755 | 40013 38593 | 32682 |
16 14.718 131578 | 12561 11.652 | 10838 | 10,906 | 04456 | 88514 | 83126 | 7.8237 | 7.3792 | 69740 | 6.6039 | 62651 59542 | 56885 | 47206 | 40333 | 38874 | 32832
17 15562 | 14282 13.466 | 12166 | 11.274 | 10477 | 97632 | 91216 | B5436 | 80216 | 7.5488 | 71196 | 67201 63720 | 60472 | 57487 | ATT46 | 4069 39029 | 32048 |
18 16308 | 14002 13.754 | 12.650 | 11.690 10828 | 10050 | 93719 | 87556 | 82014 | 7.70M6 | 72407 | 68350 | 64674 | 61280 | S5BI7E | 48122 | 40799 | 3.927% | 33037
19 17226 | 15678 13324 | 13334 | 12085 | 11458 | 102336 | 06036 | 89501 | £3640 | 78393 | 73658 | 69380 | G.5504 | G.40BZ | HBTVS | 48435 | 40967 | 39424 305
20 18.046 16351 14.877 3500 | 12462 | 11.470 | 10504 | 98181 | 91285 | 85136 | 79633 | 7.4604 | 7.0248 | 66231 | 62503 | 59288 | 48636 | 49103 | 39530 | 33158 |
Fil 18857 17611 15.415 14023 | 12841 11764 | 10.836 | 10.097 | 97922 | B.6487 | BOTST 7.5620 | 71016 | 6.6870 | 63135 | 55TH 48913 | 41212 | 1960 33198
22 | 19.660 17.658 15937 14.451 13163 | 12042 | 11.061 10201 | @4424 | 87715 | Ba7sT | 76446 | 74695 | 67429 | 63597 | 60113 | 49004 | 41300 | 35705 | 3.3230
3 20,456 | 18292 16.444 | 14857 13489 | 12303 | 11272 | 10371 | oseoz | BeR3Z | 62664 | 77184 | 72207 | 67929 | 63988 | 60442 | 40245 | 44571 | 30764 | 33254
4 21.243 18914 | 16.936 15247 | 13.799 | 12550 | 11.460 | 10529 | 97066 | 89847 | &3481 77843 | 7.2820 | 6.8351 | 6.4338 | 60728 | 4931 4.1428 | 39811 phrird
25 22023 19523 | 17413 | 15602 14004 | 12783 | 11.55¢ | 10675 | 00296 | nov7o | B4217 | 7.B401 | 73000 | 68720 | 64641 | 60071 | 49476 | 41474 | 30840 | 33086
30 25808 | 22.396 | 19.500 17292 | 15372 | 13765 | 12409 11258 | 10274 | 94250 | 86038 | B.0552 | T7.4957 | 7.0027 | 65660 | G772 | 49780 | 41601 | 3.9950 i 333
35 | 20409 | 24000 | 21,487 | 18.665 | 16374 | 14408 | 12948 | 11655 | 10.567 | 9.6442 | 8.8552 | 81755 | 7.5856 | 7.0700 | 66166 | 6.2153 | 49915 | 49644 | 3.0084 | 33330
3E 30.408 | 25489 | 1.832 | 18908 | 16547 | 146N 13035 | 11717 | 10642 | B67ES | BATA6 | B.1924 | 7.507% | 7010 | 6621 52201 45020 | 415640 | 30987 | 3331
40 32835 | 27355 | 3115 | 919.793 | 97458 | 15046 | 13332 11975 | 10757 | o770t | 80511 | 82438 | 76344 | 7.1050 | 66418 | 6.2335 | 40065 | 49650 | 39905 | 33332
-50 _39.1% Ji.&i_?ﬁ.?w 21482 | 18256 1_5&&_2 13.80% 1_2233 18.862 9.9!40_&.041? B3045 | 76752 | T.1327 | 6.5605 ﬁm 49905 4.16_&5 3.9060 33333




kasneb
CIFA PART 11 SECTION 4

EQUITY INVESTMENTS ANALYSIS

WEDNESDAY: 27 November 2019. Tifne Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
{a) Describe three main categories of securities markets in relation to equity investment analysis. {6 marks)
(b) An investor buys 1,000 shares of a stock on margin at a price of Sh.50 per share. The initial margin requirement is

40% and the margin lending rate is 3%. The investor's broker charges a commission of Sh.0.01 per share on purchases
and sales. The stock pays an annual dividend of Sh.8.30 per share. One year later, the investor sells the 1,000 share at
a price of Sh.56 per share.

Required: . )
The return on the equity investment. {6 marks)
(c) A financial analyst has gathered the following information for Rafiki Limited, a high growth firm tradmg and quoted -
in your country’s securities exchange:
» Dividend payout ratio in the first five years 20%
s  Dividend payout ratio after five years 50%
* Dividend growth rate in the first five years 25%
¢ Dividend growth rate after five years 8%
¢ Risk free rate 6%
¢  Beta of the company 1.0
» ° Risk premium of the company 5.5%
Required:
(i}  Estimate the price to carnings (P/E) ratio of the firm using two-stage dividend discount growth model.
(4 marks)
(ii)  Estimate the return on equity (ROE) in the first 5 years. (2 marks)
(iii)  Estimate the return on Equity (ROE) during the stable growth rate period. (2 marks)
(Total: 20 marks)
QUESTION TWO
(a) In relation to industry analysis:
(i}  Examine five factors that could influence the cash flow prospects of different industries in your country.
(5 marks)
(i)  Highlight three characteristics of a shakeout stage of an industry life cycie phase. (3 marks)
(b} As a financial analyst for an equity income mutual fund, you are evaluating National Water Ltd. for possible inclusion

in the approved list of investments.

National Water Ltd. operates in a regulated industry and hence you are confident that its future growth rate should
follow its stabie historical growth record.
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The return on equity (ROE) for the company has consistently been close to the historical median return on equity
(ROE) for the country’s businesses of 12.2%, reflecting the regulated prices for its product.

Estimated earnings per share (EPS) for the financial years 2019 and 2020 are Sh.1.27 and Sh.1.33 respectively
reflecting a 4.7% growth rate. :

The company has a current dividend payment rate of Sh.0.81. Although the company’s dividend payout ratio has
been relatively stable, that is, 73% in the year 2018, 77% in the year 2017, 75% in the year 2016, 77% in the year
2015, and 78% in the year 2014, you conclude that National Water Ltd. has not followed an exact fixed payout
dividend policy. This is as a result of the company being conservative in reflecting eamings growth in increased
dividend. Your dividends forecast for the year 2019 is $h.0.83. In addition, the nominal annual Gross Domestic
Product (GDP) growth estimate is 4%. )

Compared with a mean dividend payout ratio of 76% from year 2014 t0 vear 2017, you expect a long-term average
dividend payout ratio of 70% going forward. You also anticipate a 3.7% long-term dividend growth rate.

The current market price per share (MPS) for National Water Ltd. is $h.30, The estimated cost of equity is 6.2%.

Required:
(i)  Using Gordon growth model, estimate the value of the company’s shares. {2 marks)

(ii)  State whether the company’s shares are overvalued, fairly valued, or undervalued based on the results obtained
in (b) (i) above. (2 marks)

(iii)  Provide three reasons why the Gorden growth model is suitable for valuing the company’s shares. (3 marks)
(iv) National Water Ltd’s beta is -0.186.

Calculate the Capital asset pricing model (CAPM) estimate of the cost of equity for the company. (Assume
equity risk premium of 5.7% and risk-free rate based on the long-term Treasury Bond was 5.7%).

(v) The Gordon growth estimate of value of the company’s share using the cost of equity obtained in (b) (iv)
abave. (2 marks)

(vi} Assuming that a price to earnings ratio (P/E) of 24 based on estimated 2019 financial year earnings per share
(EPS) is an appropriate guide to value, evaluate whether the Gordon growth estimate value in (b) {v) above is
plausible. _ {1 mark)

{Total; 20 marks)

QUESTION THREE
(a) In relation 10 technical analysis:
(i)  Summarise three principles underlying Dow Theory, (3 marks)
{ii}  Explain three uses of oscillator indicators. {3 marks}

(b

(©)

Jiji Limited is expected to grow at the rate of 30% for the next five years. After that, competition is expected 10 lower
the company’s growth rate to a constant rate of 7% indefinitely. The market risk premium is 6% and the risk-free rate
is 5%. The company’s beta is 1.5 and it just paid a dividend of sh.2.50.

Required:
The current market value of the company’s share. (6 marks)

Jaloz Limited intends to invest Sh.100 million in a project that is being depreciated on a straight line basis to zero over
a two year life with no salvage value. The project will generate earnings before interest and taxes (EBIT) of $h.50

million each year for two years. The company’s weighted average cost of capital (WACC) and required rate of return
(RRR) for the project are both 12%.

The corporation tax rate is 30%.

Required:
(i}  The economic income for the company in year one and year two, {4 marks)
(iiy The market value added (MVA) for the company. {4 marks)
' {Total: 20 marks)
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QUESTION FOUR

(a)

(b)

Melissa Atunda, a financial analyst at Beta Capital is undertaking equity valuvation of Babito Limited, a big European
multinational corporation specialising with electronics. The firm intends to venture in the Africa region to expand its
market share.

The Chief Finance Officer has tasked Melissa to prepare a research report to be tabled to the Board of Management
for consideration during the next Board meeting scheduled in the month of January 2020.

Required:
(i)  Outline three contents of an equity research report that Melissa should include in her presentation. (3 marks)

(i) Discuss four ethical responsibilities that Melissa should observe while undertaking the assignment. (4 marks)

An equity analyst has gathered the following financial information relating to Emma Elisha Ltd.:

Emma Elisha Ltd.
Income Statement excerpts
for the year ended 31 December:

2018 2017
Sh. “million” Sh. “million”
Eamings before interest, taxes and depreciation (EBITD) 275.0 250.0
Depreciation expense 82.5 75.0
Operating profit 192.5 175.0
Interest expense - _16.0 _14.9
Income before taxes 176.5 160.1
Income taxes _56.5 48.0
Net income 120.0 12,1
Ordinary dividend 48.0 44.8
Emma Elisha Litd.
Statement of financial position as at 31 December:
2018 2017
Sh. “*million” Sh. “million”

Assets:
Current assets:
Cash 38.0 345
Accounts receivable 126.5 115.0
Inventory 189.7 ° 172.5
Current assets 354.2 3220
Non current assets 1,168.3 1,003.0
Less: Accumulated depreciation (257.5) (175.0)
Total assets 12650 1,150.0
Current liabilities:
Account payable 128.2 97.7
Notes payable _20.0 i5.0
Total current liabilities 148.2 112.7
Long term debt 157.5 150.0
50 million ordinary shares 300.0 800.0
Retained carnings 159.3 87.3
Total liabilities and equity 1.265.0 1,150.0

Additional information:

1. The tax rate is 30%.

2. The required rate of return is 13%.

3. The analyst expects a growth rate on the financial year 2018 free cash flow to equity (FCFE) of 20% per year for the
next three years and a 6% constant growth rate beyond the three vears.

Required:
(i}  The free cash flow to equity (FCFE) per share. (6 marks)
(ii)  Estimate the company’s value. (3 marks)
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(c)

Boo Limited has $h.160 million worth of assets, 20 million shares outstanding and a current share price of Sh.6.

Required:
(i}  Calculate the company’s Tobin’s Q ratio. (2 marks)
(ii)  Comment on the value obtained in (c) (i} above. . (2 marks)

(Total: 20 marks)

QUESTION FIVE

(a}
(b)

(c)

Justify four reasons why private company valuation is necessary in equity investment. (4 marks)

Sophia Akinyi is valuing a non-controlling interest in a small ornament retailer business. To obtain the appropriate
price multiple for the firm’s valuation, she has prepared a database of price multiples from the sale of entire public and
private companies over the past ten years.

Using historical data, she estimates a control premium of 18.7% and a discount for lack of marketability of 24%.

Required: _
(i) Calculate the total adjustment for control and marketability to be applied in the valuation. (3 marks)

(i) Highlight three ways in which financial analyst could use to quantify discount for lack of marketability.
{3 marks)

Rachael Gakii, an equity analyst at Rachel Securities Ltd. has gathered the following data for Ramex Global Bakeries
dealing with investments in hypermarkets and supermarkets.

All figures except for the share prices are in Shillings Millions:

2018 2017 2016
Sh. Sh. Sh.

Total shareholder’s equity 55.60 54.10 _ 52.60
Net revenues 77.30 73.60 70.30
Net incomes 320 E10 0.40
Net cash flow from operations 17.90 15.20 12.20
Share price 11.40 14.40 12.05
Shares outstanding 4,476 3,994 3,823
Industry relevant averages for year 2018:
Lagging industry ratios 2018
Price-to-Earnings (P/E) 8.6
Price-to-Cash Flow (P/CF) 4.6
Price-to-Sales (P/S) 1.4
Price-to-Book Value (P/B) 3.6
Required:
(i) Ramex Ltd.’s trailing P/E, P/CF, P/S and P/B ratios. {4 marks}
(ii)  Explain whether the firm is undervalued or overvalued using the industry averages for 2018. (3 marks)
(iii}  Propose three drawbacks of price-to-sales (P/S) ratio in equity valuation. (3 marks).

{Total: 20 marks)
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CIFA PART LI SECTION 4

EQ U.ITY INVESTMENTS ANALYSIS

THURSDAY: 23 May 2019. Time Allowed: 3 hours.

Answer ALL questions, Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)

(b)

(ci

Irene Kanini believes that the shares of Rafiki Limited are currently overvalued, However, she recognises that share
prices often continue to increase above their intrinsic values for sometime before correcting.

Required:
With reference to the above statement:

(i) Explain to Irene Karini three types of validity instructions used in securities exchange market which specify
when an order should be executed. (3 marks)

(i) Advise Irene on the type of order that she should place assuming that she intends to sell her shares when the
share prices begin to fall by a significant amount. (2 marks)

Better App Limited has come up with a new mobile application software that is expected to enable the company grow
at a rate of 20% per annum for the next four years. By the end of four years, Better App Limited forecast that other
firms will have copied the mobile application and competition will drive down profit margin and the sustainable
growth rate will fall to 5%.

The company's most recent dividend was Sh.1.00 per share. The cost of capital is 10%.

Required:
The expected rate of return to an investor who buys the company’s shares now and sells them in a year. (4 marks)

Dee Limited uses bonds, preference shares and ordinary shares modes of financing. The market value of each of these
sources of financing and the before-tax required rates of return for each source are given below:

Market value Required rate of return
Sh. “million™ (%)

Bonds 400 8.0

Preference shares (] 3.0

Ordinary shares 500 12.0

Total £.000

Additional information:

1. Net income available to ordinary shareholders is Sh.110 million.
2. Interest expense is $h.32 million.

3. Preference dividends are Sh.48 miilion.

4. Depreciations expense is Sh.40 million.

5. Investment in fixed capital is Sh.70 million.

6.  Investment in working capital is Sh.20 million.

7. Net borrowing is Sh.25 million.

8. Corporate tax rate is at 30%.

9, Stable growth rate of free cash flow to the firm (FCFF} is 4%.
0. Stable growth rate of free cash flow to equity (FCFE) is 5.4%.
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Required:

(i)  The weighted average cost of capital {WACC) for the firm. (2 marks)
(ii}  The current value of free cash flow to the firm (FCFF). {2 marks)
(iii}  The toial value of the firm. (2 marks}
(iv} The value of equity for the firm. . | (1 mark)
(v}  The current value of free cash flow to equity {(FCFE). (2 marks}
‘(vi}) The value of equity based on forecasted year | FCFE. {2 marks)
{Total: 20 marks)
QUESTION TWO
(a) In relation to industry and company analysis and equity valuation:
" (i}  Explain the term “peer group”. - . . {2 marks)
(i)  Summarise any four steps that an equity analyst should follow in forming a peer group. (4 marks)
(b) In relation to technical analysis:
| (i} Explain the term “change in polarity principle". (2 marks)
(ii}  Describe two char_t patterns, {4 marks)
(c) .Jeremy Owuor is valuing Delta Railways. During the last five years {year ended 31 March 2013 to year ended
31 March 2019), the company has paid dividends per share {DPS) of Sh.5.50. Sh.6.50, Sh.7.0¢, S$h.8.00 and Sh.9.00
respectively. These dividends suggest an average annual growth rate in DPS of just above 13%. Jeremy has decided to
use a three-stage dividend discount model (DDM) with a linearly declining growth rate in Stage 2. He considers Delta
Railways to be an average growth company. and estimates stage 1 (the growth stage) to be 6 years and stage 2 (the
transition stage) to be 10 years. He estimates the growth rate to be 14% in stage 1 and 10% in stage 2. His estimated
required return on equity is 16%.
Required:
The curtent value of Delta Railways share. {8 marks)
o (Total: 20 marks)
QUESTION THREE _
(a) You are presented with the following two scenarios about two companies. Alpha Lid. and Beta Ltd. The real rate of
return on shares for both companies is 3% per annum.
Scenario 1;
Suppose both Alpha Ltd. and Beta Ltd. can pass through 75% of cost increase. Cost inflation is 6% for Alpha Ltd. but
only 2% for Beta Ltd.
Required:
(i} Estimate the Justified price to earnings {P/E) ratio for each company and interpret the results. (3 marks)
Scenario 2:
Suppose both Alpha Ltd. and Beta Ltd. face 6% annual inflation. Alpha Ltd. can pass through 90% of cost increases,
but Beta Ltd. can pass through only 70%.
Required: .
(i1) Estimate the justified P/E ratio for each company and interpret the results. (3 marks)
(b) Naheshon Marwa is a junior financial analyst at Cleverinvest, a fund management company specialising in equity

investment. His supervisor requested him to perform a couple of valuation tasks on some private companies.

Required:

Advise Naheshon on two factors that he should consider when selecting the approach to value a private company.

C {4 marks)
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© Linus Wambua owns 10% of Applex Limitcd shares while the remaining 90% is held by Kelvin Mukuna who is the
Chief Executive Officer of the company. Kelvin is interested in selling Applex Limited 10 a third party. He advises

Linus that if Applex Limited is not sold, he has no reason to purchase his 10% interest.

Additional information:

. Valuation discounts assuming imminent sale of Applex Limited.
» Lack of control discount 0%.
¢ Lack of marketability discounts 5%.

2. Valuation discount assuming continued operation as a private company:

s Lack of control discount: incorporated through use of reported earnings rather than normalised carmings,

*  Lack of marketability discount 25%.
3. Indicated value of equity operations:
» [n sale scenario Sh.9,600.000,000,
e Instay-private scenario No., Sh.8.000,000,000

Required:

(i)  Discuss the relevance of valuation discount assuming imminent sale of Applex Limited.

(2 marks)

(ii) Explain which estimate of equity value should be used and calculate the value of Linus equity interest in Applex

Limited assuming sale is likely.

(iii} Evaluate relevance of valuation discount assuming Applex Limited continues as a private company.

{3 marks)

{2 marks)

(iv) Assuming Applex Limited continues as a private company, explain which estimate of equity value should be

used and calculate the value of Linus equity intercst.

QUESTION FOUR

(3 marks)

(Total: 20 marks)

{a) An equity analyst at Smartlnvest Asset Management Firm prepares a market forecast for his firm which uses the
Grinold-Kroner Model to forecast the expected rate of return on equities for the next 10 years. He uses the data

provided below to prepare his forecast:

Factor 10 years forecast (annualised)
Dividend yield 1.80%

Dividend growth rate 4.00%

Changes in price to earnings (P/E) multiple 0.50%

Inflation rate 1.20%

Change in number of shares outstanding -0.30%

Real total earnings growth rate 2.50%

Required:

Determine the following sources of return for equitics according to the Grinold-Kroner Model. using the analysi’s

forecasts:

(i) Expected nominal earnings growth return.
(i} Expected repricing return.

{iii} Expected income return.

{(b) The tollowing data relate 1o a firm listed on the Naxsi Securities Exchange (NSE):

. The firm will earn Sh.1.00 per share in perpetuity,
2. The firm pays all earnings as dividends.

3. Book value per share (BVPS) is Sh.6.00.

4. The required rate of return on equity is 10%.

Required:
{i) The value of the company’s shares using the dividend discount medel (DDM).

(i) The value of the share using the residual income valsation model,

(2 marks)
{2 marks)

(2 marks)

(2 marks)

(2 marks)
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(c)

Amlex Limited has just paid an annuai dividend of Sh.0.8 per share for the very recently closed financial year  Earnings
per share (EPS} for the previous year had been Sh. 1.00.

Additional information:
1. The expected market rate of return is 7%.

2. The risk-free rate is 2%.
3. The current ex-dividend market price per share (MPS) is Sh.20.80.
4. The company’s shares have a beta of | 2,
Required; ' : : :
(i}  The market implied dividend growth rate (gnp.) for Amlex Limited using the constant dividend growth model.
: : (3 marks)
(i) The implicd dividend growth rate assuming that the company will just be able 10 retain its average p'asl'_years’ refurn
on equity {ROL) of 10% while maintaining its current payout ratio. ' (3 marks)
{iii} The value of Amlex Limited's share assuming a sustainable growth rate, g, of 2.5%. . - {2 marks)

(iv) Advise an investor on whether to buy the company’s shares based on your results in (¢) (iii) above, © (2 marks)
: ~ (Total: 2¢ _marks)

QUESTION FIVE

(a}

(b

<)

(d}

Describe two instances when the following equiny valuation measures are appropriate;

(iy Dividends. N " (2 marks)
{ii} Free cash Nows (FCFs). . - : S {2 marks}
(iii} Residual income. _ (2 marks)

James Koech, a Certified Investment and Financial Analyst, {CIFA), is considering using economic value added (EVA)
and market value added (MVA) to measure the performance of Sukar Limited. He has gathered the following
information for the year ended 31 December 2018:

.  Adjusted net operating profit before tax for the year 2018 is Sh. 142,857,143,

2. Total capitai is Sh.700 eullion {no debt).

3. Closing market price per share {(MPS) is Sh.26.

4. Sukari Linuted has 84 million owstanding ordinary shares.

3. Total cost of equity is 14%.

6. Corporation tax rate is 30%.

Required; .

(iy EVA for the year ended 31 December 2018, ) o . {3 marks)
(i} MVA for the year ended 31 December 2018, ' (3 marks)

Mwi Ltd. expects earnings of Sh.1.25 per share next year out of which Sh.0.50 will be paid out as dividends. Earnings

and dividends are expected to grow at a constant rate each year afterwards. Mwi Ltd."s shares currently trade at Sh.20 per
share. = : T

The firm’s cost of capital is 10%.

Required: ' : . '
(i) Return on equity (ROE) for the company. " (4 marks)
(i) Justifying your answer, explain whether Mwi Lid. is a growth company. (2__|_'narks)

According to the Ellist Wave Theory, cycles that are eepetitive and quite prediciable could be cbserved in share price:
maovement.

In light of the above stalement, highlight two types of wave movements as pdstii'[a[ed by Ralph Nelson Eltiot. (2 marks)
- (Total: 20 marks)
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CIFA PART 11 SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 29 November 2018, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Explain the following terms as used in equity markets:
(i) Board lot. {1 mark)
(ii) Close price. {1 mark)
(iii) internet trading. (I mark)
{Iv) Thin market. (1 mark}
(b) Discuss five stages of an industry life cycle. {5 marks)
(c) Summarise three responsibilities of a financial analyst in the equity valuation process. (3 marks)
(d) Equimax Holdings Limited’s curvent revenue stands at Sh.20 million. The company’s future performance will be

tracked relative to sales.

Sales growth and net profit margin are projected per year as shown in the following table:

Year | 2 3 4 5 6

Sales growth rate (%) 30 25 20 15 1 . 5

Net protit margin (%0) 8.0 1.5 7.0 6.0 5.5 5.0
Additional information:

i, IFixed capital investment net of depreciation is projected to be 30% of the sales increase in each vear.
2. Working capita) requirements are 7.0% of the projected shilling increase in sales in each vear.

3. Debt will finance 40% of the net fixed capital investment and working capital investment.

4. The company has a 12% required rate of return on equity.

3. The firm has one million ordinary shares outstanding.

Required:

The value of equity for Equimax Holdings Limited using the two stage free cash tlow to equity (FCFE) model.
{Assume long-term growth rate of 5%). {8 marks}

(Total: 20 marks)

QUESTION TWO

(a)
(b}

Cxamine three types of technical analysis indicators, (6 marks)

GCC Limited paid an annuad dividend of Sh.1.25 per share yesterday and maintained its historic annual growth rate
of 7%. You plan to purchase GCC Limited’s shares today because you believe that the dividend growth rate will
increase to 8% for the next three years and the company’s market price per share wilt be §h.40.00 at the end of year

-

2
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Required:

(i) The price that you would be willing to pay for the company’s shares assuming that vou required a 12% rate
of return. (4 marks)
(i) The maximum price that you would be willing 10 pay for GCC Limited's share assuming that ihe
8% growth ratc would be maintained indefinitely and that vou require a 2% rate of return. (2 marks)
(iii} The price of the sharc at the end of year 3 assuming that the growth rate of 8% is maintained indetinitely
and a 2% rate of return is expected. (2 marks}
(c) An equity analyst has gathered the following information about ABC Ltd’s shares:
Current market price per share (MPS) Sh.22.56
Current annual dividend per share (DPS) Sh.1.60
Annual dividend growth rate for years 1 — 4 9%
Annual dividend growth rate for year § onwards 4%
Required rate of return §2%
Required:
Determine the percentage by which the inirinsic value exceeds the market price per share. (6 marks)
(Total: 20 marks)
QUESTION THREE
(a) Venus Limited's share is currently trading at Sh.95 at the securities exchange and its book value per share was
Sh.100 at the end of last year. The research department at a lcading investiment bank has published an investment
opinion on Venus Limited's share forecasting a return on equity (ROE) of 10% and dividend payout ratio ot 30%,
into perpetuity.
Additional information:
l. The risk-lree rate is 3%.
2. The share market risk premium is 7%.
3. The company’s estimated beta is 1.1.
Required:
(i) Based on the forecasts from the bank’s research depariment, calculate the expected rate of return on Venus
Limited’s shares at the current share price. (3 marks)
(i) Determine whether Venus Limited’s shares are trading at a discount or at a premium assuming that the
capital asset pricing model (CAPM) holds. (2 marks)
(b) Fredrick Mugendi, an equity analyst, is valuing Bora Limited. He has made the following assumptions about the
company:
1. Book value per share (BVPS) is estimated at Sh.9.62 on 3t December 2017,
2, Carnings per share (EPS) will be 22% of the beginning BVPS for the next cight years.
3. Cash dividends paid will be 30% of EPS.
4, At the end of the eight-year pertod, the market price per share (MPS) will be three times the BVPS.
5. The required rate of return is 8.3%.
Required:
Estimate the value per share of Bora Limited using the residual income model. (8 marks)
(c) Benson Ireri, a financial analyst at Wema Financial Services intends to use the cash fow return on investment

(CFROL) measure to value Heavy Machinery Lid.

He has gathered the following data:

Gross cash investment Sh.2,925.863 miflion

Gross annual cash flow Sh.427.156 million

Non-depreciated assets 5h.522.968 million

Asset lile 18 years

Required:

(i) Calculate the CFROI for Heavy Machinery Lid. {4 marks}
(ii} Discuss three reasons why the CFROI approach is attractive in the equity valuation process. (3 marks)

(Total: 20 marks)
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QUESTION FOUR

(a)
(b)

{c})

Highlight three advantages of the free cash flow model in the ¢quity valuation process. (3 marks)

Uwezo Limited uses bonds, preference shares and ordinary shares as its sources of financing. The market value o)
cach ol these sources and their respective before-tax required rates of return are provided below:

Market value Required return
Sh.*million™ (%) \
Bonds ' 400 8 :
Preference shares 100 &
Ordinary shares 500 12
Additionaf information:
I Income available to shareholders Sh.110 million
2. Preterence dividends Sh 8 millien
3 Depreciation Sh40 million
4, Investment in lixed capital Sh.7¢ million
5 Investment in working capital $h.20 million
6. Net borrowing Sh.25 million
7. Corporation tax rate 30%
8. Stable growth rate of free cash flow to fiem (FCFF) 4.0%
9. Stable growth rate of free cash flow to equity (FCFE) 5.0%
Reguired:
(i) Weighted average cost of capital (WACC). {1 mark)
(ii) The forecasted value of tree cash flow to the fiem (FCFF), (3 marks}
(it The total value of the firm and the value of equity based on forecasted FCIF obnained in (b) (i) abave.
{4 murks)
{iv) The forecasted value of free cash tlow to equity {FCFE). {2 marks)
(v) The value of equity based on forecasted FCFE obtained in (b) (iv) above. (2 marks)

Brenda Akinyi. an equity analyst at Soi Capital is analysing the following market data relating to Binstar Limited:

1. Current market price per share (MPS) Sh.80

2, Trailing annual earnings per share (EPS) Sh.4.75

3. Dividend growth rale 10%

4. Risk-free rate 10.5%

5. Equity risk premium 6.5%

6. Beta versus Binstar Limited Index 0.89

7. Trailing annual dividend per share (DPS) $h.2.50

Required:

(i} Justified trailing price-to-camings {72} ratio using the Gordon growth model. {2 marks)

(ii) Justified leading price-to-carnings {P/E) ratio using the Gordon growth model. {2 marks)

(iii} Determine whether the company is overvatued or undervalued based on your resules in (¢} (i) and (<) (i)
above. (i mark)

{Total: 20 marks)

QUESTION FIVE

(a)

Pizo Limited is a large firm operating in an industry where its sales and costs are subject to price inflation. Martin
Wambua, 4 financial analyst, has been tasked with forecasting the company’s costs.

Required:
Assess three courses of action that Martin Wambua should consider in his analysis, {3 marks)
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{b)

{c}

(d)
(¢}

An analyst gathered the following data for Waka Limited:

Recent share price 5h.22.50

Shares outstanding 40 million

Market value of debt Sh.137 million

Cash and marketable securities Sh.62.3 million

Investments Sh.327 million

Net income Sh.137.5 miliion

Enterest expense 5h.6.9 million

Depreciation and amortisation Sh.10.4 million

Taxes Sh.95.9 million

Required:

(i Calculate Waka Limited’s enterprise value to earnings before interest, tax, depreciation and amortisation
(EBITDA). (3 tmarks)

(i) Examine two limitations of enterprise value to EBITDA, (2 marks)

The following diagram relates to a candlestick chart used by technical analysts in assessing market movement:

«————— A

Required:

(i) [dentify points A, B, C and D above, 2 marks)
(i1} Explain three benefits of candlestick charts in technical analysis. {3 marks)
Examine three characteristics of a well-functioning financial system in your country, (3 marks}

Company analysis takes place after the analyst has gained an understanding of the company’s external environment
and includes answering questions about how the company will respond to the threats and opportunities presented by
the external environment,

In light of the above statement, describe two competitive strategies that a company should use in order to respond to
the threats and opportunities presented by the external environment as postulated by Michael Porter. {4 marks)
(Total: 20 marks)

LR T .
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CIFA PART Il SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 24 May 2018, Time Allowed: 3 hours.
L)
Answer ALL questions. Marks allocated (o each question are shown at the end of the question. Show ALL your workiongs.

QUESTION ONE

{u)

()

()

()

(¢}

xplain the role of the lollewing participants of your country’s securities exchange:

(i) Market markers. {1 mark)
(i) Commission brokers. {1 mark)
(i} I'loor brokets. (1 mark)
(iv) Registered traders, {1 mark)

Shangilia Limited™s share is currently trading at Sh.25 ac the securities exchange. The estimated camings per share
(EPS) is Sho1.875; the dividend payout vatio is 35%%, and it is estimated that the price o earnings (I¥15) ratio in one
vear's time will be 13,

Required:
The expected rate of retwrn (rem the company s share in the nest one year. {3 marks)

Tarino Limited paid a dividend per share (DDPS) of Sh.l vesterday. It is expecled that the dividend will grow at a
[ ¥ Y g

rate of 10% per annum for the first 4 years, 8% per annum lor the next 10 years and thereafter zrow at a rate ol 5%

per annum perpetually. Fhe investor’s expected rate of return is 12%.

Required:
The value of Tarino Limited’s share today. {6 marks}
Discuss three contrary opinion rales in relation to technical analysis. ' (3 marks}

Jack Jester, an inexperienced and unqualified person working in a financial analyst’s ollice ¢laims to have a
superior method of picking undervalued shares. He claims that the best way 10 find the value of a share is to divide
carnings belore interest, tax, depreciation and amortisation (LBITDA) by the risk-Iree rate of a bond and is vrging
your client o invest in Whole Foeds Lid.'s share. Jack Jester argues that Whole Foods Ltd."s EBITIDA of Sh,1,580
million divided by the long-term government bond coupon rate of 7% gives a total vatue of Sh.22.571.4 million.
With 318 millign shares outstanding, the market value per share using this method is Sh.70.98. The shares of Whole
Foods Ltd."s market price per share (MPS) is Sh.36.50.

Required:
Argue Tour cases against the valuation approach used by Jack Jester, (4 marks)
{Total: 20 marks)

QUESTION TWO

()

In an industry, the largest two firms have a market share ol 20% cach while six other firms have a market share of
10% each.

Required:

() The Ove (irms concentration ratio. (1 mark)
(i) The Herlindabl -- Thirschman [ndex (FEIT Tor the five (irms. {2 marks})
{iii) Interpret the results obtained in (a) (i) above. {1 matk}
(iv) Examine two limitations of using 11w assess the competitiveness of a market. {2 marks)
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{b}

(c)

Mohamed Komora, an equity analyst al Wealth Investment and Consultancy Services Limited Js preparing 3 report
ot his home country manulacturing firm in the beverage industry. He has gathered the informadon given below:

Ratios for Beverage Industry Index and Broad Stoek market Index
Year 2012 2013 2014 2015 2016 2017
Return on equity
Beverage industry index (%) 12.5 2.0 15.4 19.6 216 210
Markel index 10.2 2.4 11.6 9.9 204 21

(o)

Average price 1o carnings (P/E) ratio
Beverage industry index 285 times  23.21mes (9.0 times 187 times 1S imwes 162 limes
Market index 0.2 1241 [4.6 19.9 8.1 19,1

Dividend pay-out ratio

Beverage industey index (%) 8.8 8.0 12,1 12.1 14.3 17.1
Market index 39.2 491 38.0 A3.7 41.8 391

Average dividend yield

Beverage industry index (%4) 0.3 0.3 0.6 0.7 0.8 1.0

Markel index 3.8 3.2 2.6 2.2 2.3 2.1

Required:

(i) Using the above informatien, determine the phase of industry lile cyele in which the beverage industry is.
{2 marks)

(i1} Citing four reasons, justify your answer in (b) (i) above. . Chmarks)

Caroline Anyango, a Certified Investment and Financial Analyst {CIFA} has been provided with ihe following
information relating 1o two private companies for analysis:

Company A:

Working capital Sh.¢0,000
Non-currenl asscts Sh.1.600.000
Nermalised carnings S$h.225,000
Required return on working capital 4%

Required return on non-curtent assets 12%

CGrowth rate of residual income 3%

Discount rate for intangible assets 18%

Company B:

Risk-free rate 1.00%

Liquity risk premium 6.00%

Beta ' 1.50

small stock premium .00%

Company-specific risk premium 1.50%

Industry risk premium 1.20%

Required:

{i} Using the excess earnings method, determine the value of company A, (-1 marks)

(ii) Istimate the required rate ol return for company B using the expanded capital asset pricing model
{CAPM). (2 marks)

(i) Caleulate the required rate ol return lor company B using the built up approach. {2 marks)

(Total: 20 marks)
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QUESTION THREE

{1)

(b)

{c)

{d}

Summarise four reasons why linancial analysts prefer o use price o book (P/I3) value us 2 valuation measure in
couity analysis, - markss

Sahala Limited is sensitive to the ceconomic exele. Job Chege. an equity analyst at Blae Chip Capital postulates that
the six years ending 2007 reflect a business eaele for the company. He has collected the iollowing data sbowt the
COPINY.

Year 20022013 20142015 016 2017
Adjusted carnings per share (EPSY{Sh.) 1.30 2.65 550 .30 3.35 100
Return on equity (RO (%) 0.0 0.13 (022 0.18 0.12 .03
Book value per share (BVPS}(Sh.y_ e 32
The market price per share (MPSy ol Sahala Limited is $h.30.

Reqguired:
(i) Normalized S jor Sahala Limited. {2 miarks)
(it} Price tr earnings (/15 ratio based on average ROID method. {2 marks)

Suggest three measures (that equity managers could undertake to inerease cash flow returm on investment (CFROI,
(3 marks)

XYZ Limited has invested Sho 100 million capital in assets.

The following information is provided:

l. The lirm's alter-tax operating income on assets is Shol S million, This yalue is expected o be sustained i
e Tuture,

2 The company’s cost ol capital is 10% per annum and is projected to renxain constant in the foreseeable
iuture.

3. The frm is expected 1 make investments ol Sh.H) million at the beginning of cach of the next live years.

4 All assets and investments are expected 1o have nfinite lite, Thus, the assets in place and the investment
made in the first ve years will have a return o 15% per annum in perpetuits, with no growth,

5. Alter year five, the company will continue to make investment which will grow at a rate 3% per annum.

The new investment is expected 1o have a retum on capital of 10%%5 which will also be the cost of capital.
|

Required:

{i} The value ol the Itrm using the cconomic value added (VA approach. {5 marks)
(i) The value el the firm using the market valoe added (MY A) approach. (2 marks)
(1} Comment on your results in {dy (i) above, {2 marks)

Clotal: 20 marks)

QUESTION FOUR

()

(b)

In refation o dividend discount model (1DDMY:
(i) Describe one strength of the two stage DDM in comparison o the constant growth DM, (2 marks)
(i1} Lxpiain one weakness common in all DDMs. (2 marks)

Kithaka Lenayapa is an analyst at a leading investment bank and is responsible for the following four companics
namelys A, B, Cand D. All the our companics operate in diverse seetors of the domestic economy. e has gathered
the following information regarding the companies:

Company A B C D

Rate vl retuen on equity (RO .20 .12 .15 010

Required rate ol retwrn .15 .10 0.12 0.08

Dividend payout ratio (%) 60 50 ) 45

Free cash flow o equity (FCEFIY .25 .50 1.0 200

Profit margin (%) 14} 12 8 15

Required:

(i} Justified price o book {P/13) ratio for compuny A. (2 marks)

{il) Justilied price w sales (P/8) ratio for company B. (2 marks)

(i) Justified forward price o carnings (P/E) ratio for company C. (2 marks)

(1v} Justificd price 1o cush How (P/CEY ratio lor company 1. {2 marks)
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()

{it)

(b)

|
|

(<)

()

Rhino Limited has been unprofitable and has not been paying dividend on its ordinary shares. An analyst decides to
vitlue the company using his (orecusts on free cash flow o equity (FCFE) in 2018.

He gathers the following inlormation:

1, The company has 17 million shares outstanding,

2. Sales will be Sh.3.5 million in 2019, increasing at a rate of 28% annually for the next four veurs (through
2023).

3. Net income will be 32% of sales.

4, avestment in [ixed assets will be 35% of sales, investment in working capital will be 6% of sales,
depreciation will be 9% ol sales,

S 20% of the investiment in assets will be nanced with debt,

6. tnlerest expense will be only 2% ol sales.

7. The wax rate will be 10%, The company has a beta of 2.1, the risk-frec rate is 6.4% and the equity risk
premium is 5%,

8. Atthe end of year 2023, the analyst projects that Rhino Limited will sel) for 18 times carnings.

Required:

The value of one ordinary share of Rlino Limited, (8 marks)

(Fotal: 20 marks)

QUESTION FIVE

Highlight four advantages of convertible preterence shares. <) marks)

You have recently joined Gold Invest, an assel management {irm specialised in equity investments, as a junior
analyst. Eric Kibet, the chiel investment oflicer (C1O) at the firm has a business deal of valuing Hotizon Limited
and has tasked you te undertake the assignment.

You make the following assumptions about the company:

! Book value per share (BYPS ) is estimated at Sh.9.62 on 31 December 2017,

2. Larnings per share (EPS) will be 22% of the beginning book value per share for the next § yErs,

3 Cash dividends per share paid will be 30%, of carnings per share (12P98),

i At the end of the 8-year period, the market price per share (MPS) will be three times that of the book value
per share.

The required rate of return is 8.30%.

A

Required:
Lstimate the vislue per share of orizon Limited using the residual income model, (8 marks)

Il asked on the value driver with the greatest impact on multiples, analysis and investors would likely answer
Tgrowth”. This is explicitly true, but the impact of growth depends on its souree and nature. There are several
sources ol growth and each will have a different efteet on value creation and thus share prices.

Required;
With respect 1o the above statement, explain the four primary sources of growth., (4 marks)

The market price per share of Dominion Limited is $h.35. Martin Wambua has Sh.1.000.000 1o invest.
He borrows an additonal Sh. 1,000,000 rom Raliki Stock Brokers Lid. ad invests $h.2.000,000 in Dominion
Limited shares,

Required:
The price at which a margin call will first occur assuming i maintenance margin of 30%, (1 marks)
(Total: 20 marks)
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Present Value of 1 Received at the ind of i Pertods:
PVIE, = V(1+6) = (1+r)”
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CIFA PART Il SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 30 November 2017. Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)
(b}

(c)

(d)

(e)

0

Highlight three challenges of direct investment in securities held by foreign companies. (3 mark)

Explain the following terms as used in equity markets:

(i) Underwriting an issue of shares. (1 mark)
{ii) Book building. (1 mark)
(iii} Red herring prospectus. {1 mark)
(iv} Class A and Class B shares. (1 mark)

Mometrax Limited is expected to pay Sh.l dividend per share (DPS) at the end of the year and that dividend is
expected to grow at a constant rate of 5% per annum in the future. The company’s beta is 1.2, the market risk
premium is 5% and the risk-free rate is 3%.

Required:
The current share price of Mometrax Limited using the Gordon-growth model. (2 marks)

James Momanyi, a certified investment and financial analyst (CIFA), is reviewing the valuation of three companies
namely; EXE Ltd., WYE Ltd. and ZED Ltd. using the dividend discount model (DDM) and their corresponding
current market prices.

The foliowing information summarises Momanyi's findings:

EXE Ltd. Shares WYE Ltd. Shares ZED Ltd. Shares
Market price (Sh.) 35 40 36
DDM price (Sh.) 40 35 36

Required:
Based on the above information, determine the overvalued, undervalued and the fairly valued company. (3 marks)

Bamaco Limited paid Sh.0.40 dividend per share (DPS) in the financial year 2016. In that year, the company had
generated Sh. 1.0 earnings per share (EPS). The firm’s earnings and dividends are expected to grow at an annual rate
of 5% perpetually. Shareholders require a return of [2% on the investment.

Required:
(i)  Justified trailing price-to-earnings (P/E} multiple. (1 mark)
(i) Justified leading price-to-earnings (P/E) multiple. (1 mark)

Tryson Limited’s share is currently trading at Sh.472. The company’s beta is 0.83. The current dividend per share is
Sh.13.80, the risk-free rate is 4.66% and the equity risk premium is 4.92%. Christopher Koech, an equity analyst for
the company projects that the dividends will initially grow at a rate of 14% and then decline linearly to 5% over a
LO-year period. Thereafter, the dividends are expected to grow at a rate of 3% per annum.
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Required:
(i) The value of Tryson Limited’s dividend cash flow streams using the H - Model. (3 marks}

(ii)  Explain whether the shares of Tryson Limited are correctly priced based on your answer in (f) (i) above.
(Y mark)

(iii} The expected rate of return assuming that the investor decides to pay the current price of Sh.47% per share
and that the company adopts the H — Model in its valuation. (2 marks)
{Total: 20 marks)

QUESTION TWO
(a) Analyse five elements that a financial analyst should include in his report while undertaking a thorough industry
analysis. (5 marks)
{b) The annual revenue for top five airline players are given below:
Company Revenue (Sh.“Billions”)
A 38
B 25
C 25
D 23
E 13
The total revenue for all firms in this industry is $h.250 billion.
Required:
(i) The concentration ratio for the five firms. (2 marks)
(ii) The Herfindahl index for the five firms. {2 marks)
{c) Prism Limited has a return on equity (ROE} of 14%. The earnings next year are projected at Sh.100 million and the
firm's earnings retention ratio is 0.60. The firm’s required rate of return is 12%.
Required:
Compute the following values for Prism Limited:
(i) Franchise price-to-earﬁings (P/E) value. (3 marks)
(ii) Intrinsic price-to-earnings (P/E) value. {3 marks)
(d) Selected information for Nevada Limited and industry is provided below:
Nevada Limited
Estimated earnings growth rate 1%
Current share price Sh. 25.00
Normalised {underlying) earnings per share for the year 2016 Sh.1.71
Weighted average shares outstanding during the year 2016 16 million
Industry
Estimated earnings growth rate 12%
Median price-to-earnings {P/E) ratio 19.90
Required:
Determine when compared to the industry, whether Nevada Limited equity is overvalued or undervalued on a price-
earnings-to-growth (PEG}) basis, using normalised earnings per share. (5 marks)
{Total: 20 marks)
QUESTION THREE
(a) (i) In relation to sustainable growth, explain four alternative courses of action that management could take
when actual growth rate falls below the sustainable growth rate. (4 marks)
(i) A bicycle manufacturing company has the following ratios for the vears 2015 and 2016:
2015 2016
Profit margin (%) 11.4 12.3
Retention ratio (%) 91.3 21.9
Asset turnover 1.25 1.14
Asset at the end of year (Sh."million™) 2,436 3,118
Equity at the end of the year (Sh.“million™) 1,406 1,756
Growth rate in sales (%0) 17.8 16.4
Required:
The firm’s annual sustainable growth rate for the years 2015 and 2016. (3 marks)
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(b)

(c}

Harrison Nyongesa is evaluating Reliant Capital Limited using a three-stage growth model. He has gathered the

following information:

1. Current free cash flow to the firm is Sh.745 million.

2. Qutstanding ordinary shares are 309.39 million,

3. The firm has equity beta of 0,90, risk-free rate of 5.05% and equity risk premium of 5.5%.

4. The cost of debt is 7.1%. ’

5. The capital structure of the company consists of 20% debt and 80% equity.

6. Long-term debt has a market value of Sh.1,518 million.

7. The annual growth rate of free cash flow to the firm (FCFF) is 8.8% from first year to fourth year, 7.4% in

year 5, 6% in year 6, 4.6% in year 7, and 3.2% in year 8 and thereafter.

8. The Corporaticn tax rate is 30%.

Required:

(i) The required rate of return on equity. {1 mark)

(ii) The weighted average cost of capital (WACC). (2 marks)

(iii) The total value of the firm. (4 marks)

(iv) The total market value of equity. (1 mark)

) The value of equity per share. (2 marks)

Explain the following behavioural biases inherent in technical analysis:

(i} Extrapolation bias. (1 mark)

(ii) Overconfidence bias. (| mark)

(iii) Anchoring bias. (I mark)
(Totak: 20 marks)

QUESTION FOUR
An analyst has gathered the following information about Pericap Limited for the year ended 31 October 2017:

(a)

(b

1. Working capital balance $h.2,000,000
2. Fair value of fixed assets $h.5,500,000
3. Book value of fixed assets : $h.4,000,000
4, Normalised earnings of the firm $h.1,000,000
5. Required return on working capital 3%

6. Required return on intangible assets 15%

7. Required return on fixed assets 8%

8. Weighted average cost of capital 10%

9. Long-term growth rate of residual income 5%
Required:

Using excess earnings method, calculate:

(i) The value of intangible assets.

(ii) The value of invested capital.

A market has the following limit orders standing on its book for a particular stock:

Buyer Bid size Limit price (Sh.) Offer size

Nancy 1,000 19.70

Joan 200 19.84

John 4400 19.89

Andrew 300 20,02
20.03 800
20.11 1,100
20016 400

Ann Nyabuto submits a day order to sell 1,000 shares with a limit of Sh.19.83,

Seller

James
Paul
Peter

(3 marks)
(1 mark)
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(©)
(d)

Required:

(i) The average trade price assuming that no more buy orders are submitted on that day after Nyabuto submits
her order, (2 marks)
(ii} Comment on the answer obtained in (b) (i) above. (Z marks)

In relation to private company valuation, explain six factors affecting the discount for lack of marketahiliiy.
{6 marks)
An analyst gathered the following data to value a private company:

Market value of debt $h.6,800,000
Normalised earnings before interest, tax, depreciation and armotisation (EBITDA) $h.28,000,000
Average market value of invested capital + EBITDA 9

Control premium from past transactions 20%

Discount for increased risk 18%

Required:
The value of the private company’s equity assuming that:

(i) Buyer is strategic, (3 marks)

(ii) Buyer is not strategic. (3 marks)
(Total: 20 marks)

QUESTION FIVE

(a)

(b)

(c)

(d)

Assess two circumstances in which a residual income model is most appropriate for valuing the equity of a
company, _ (4 marks)

Isaac Miano expects Warren Ltd. return on equity (ROE) will average 15% in the year 2017 and beyond. Using the
capital asset pricing model he estimates the required rate of return for Warren Ltd. equity to be 11%. He believes
that Warren Ltd. will grow at a rate of 9% annually for the foreseeable future. The current book value per share for
Warren Ltd. is Sh.21.00.

Required:
The value per share of Warren Ltd.’s equity as at 31 December 2016 using single stage residual income model,
(3 marks)

Discuss four technical trading rules and indicators that could be followed by an analyst while evaluating equities
using technical analysis, _ {8 marks)

Summarise five differences between “fundamental analysis™ and “technical analysis”. (5 marks)
' (Total: 20 marks)
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KASNEB

CIFA PART I1 SECTION 4
EQUITY INVESTMENTS ANALYSIS
THURSDAY: 25 May 2017, Time Aliowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE
(a) Differentiate between a “low-cost strategy™ and “product differentiation strategy” as used in company analysis.
{4 marks)
(b) Discuss four external factors that could affect an industry’s sales and profitability. (8 marks)
(<) (i) QOutline three adjustments that could be made to the financial statements to improve the accuracy of the
residual income model. (3 marks)
(i) The following information shows the expected eamings per share (EPS) and dividend per share (DPS) for
Phamtex Ltd. for three consecutive years:
Year 1 2 3
EPS (Sh.) 2.00 2.50 4.00
DPS (Sh.) 1.00 1.25 12.25
Additional information:
i It is expected that the last dividend will be a liquidating dividend.
2. Phamtex Ltd. will cease its operations after the end of year 3.
3 The current book value per share is Sh.6.00.
4, The estimated required rate of return on equity is (0 percent.
Required:
The intrinsic value of Phamtex Ltd.’s share using the residual income model, {5 marks)
(Total: 20 marks)
QUESTION TWO
(a) Explain the following terms as used in equity investments analysis:
(i) Defensive shares, {1 mark)
(ii) Growth shares. {1 mark)
(i Top-down economic analysis. (1 mark)
{iv) Bottom-up economic analysis, (1 mark)
(b) Biostar Ltd. uses bonds, preferred shares and ordinary shares as a source of its finance, The current market value of

each of these sources of financing and the required rates of return before tax for each of the sources of financing are as
given below: )

Market value Required rate of return
Sh. “million” (%)

Bonds 400 8.0

Preferred shares 100 8.0

Ordinary shares 500 12.0

Total 1,000

Additional information:

The net income available to ordinary sharehotders is Sh.1 10 million.
Interest expenses amount to $h.32 million.

Depreciation is $h.40 million.

Investment in fixed capital is Sh.70 million.

Investment in working capital is Sh.20 million.

o L) ) —
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6. Net borrowing is Sh.25 million.

7. Corporation tax rate is 30%.

8. Stable growth rate of free cash flow to the firm (FCFF) is 4%.

9. Stable growth rate of free cash flow to equity (FCFE} is 5%.

Required:

(i) The firm’s weighted average cost of capital (WACC). (2 marks)
(ii) The current value of free cash flow to the firm (FCFF). {3 marks)
(iii) The total value of the firm. (2 marks)
(iv) The value of the firm’s equity. (1 mark)
(v) The current value of free cash flow to equity (FCFE). (2 marks)
(vi) The value of equity based on the forecasted free cash flow to equity obtained in (b} (v} above. (2 marks)
(i) Babito Limited pays an annual dividend of Sh.3 per share. The company is expected to continue paying this

dividend with no future growth in dividends. lnvestors require a 9% rate of return on investment (ROI). The
current risk-free rate is 4%.

Required:
The current value of Babito Limited’s share. (2 marks)

(ii) ABC Limited has just paid a dividend of Sh.2 per share. The required rate of return is 12%. The share is
currently trading at Sh.35 per share at the securities exchange,

Required:
The growth rate using the Gordon’s growth model. {2 marks)
(Total: 20 marks) -

QUESTION THREE

(a)

{b}

()

Propose three stock specific factors that could affect the value of private companies. (6 marks)
(i) The following information relates to Fadhili Limited for the year ended 31 December 2016:

Earnings before interest and tax (EBIT) is Sh.2.5 million.
Corporation tax rate is 30%.

Weighted average cost of capital (WACC}) is at a rate of | 1%.
Total debt is Sh.10¢ million.

Total equity is Sh.10 million.

. & & &

Required:
The company’s economic value added (EVA) for the year ended 31 December 2016. (3 marks)

(ii) Highlight two limitations of economic value added (EVA) obtained in (b) (i) above. (2 marks)

Dave and Sons Ltd.’s shares are currently trading at Sh.38.50 per share. The trailing twelve months (TTM) earnings
per share (EPS) and dividend per share (DPS) of the company is Sh.1.36 and 8h.0.91 respectively. The retumn on
equity (ROE) is 27%, the profit margin on sales is 10.9%. The treasury bond rate is 4.9%, the equity risk premium is
5.5% and Dave and Sons Lid.’s beta is 1.2. Both dividend and earnings growth rate are 9%.

Required:
Compute the following:
(i} Justified price to earnings (P/E) ratio, (3 marks)
(i) Justified price to book (P/B) ratto. (3 marks)
(iii) Justified price to sales (P/S) ratio. (3 marks)
{Total; 20 marks)
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QUESTION FOUR

(a)

(b)

{c)

Examine three advantages and three disadvantages of using price to earnings (P/E} multiple in equity valuation.
{6 marks)

Diana Kamau, an equity analyst is researching on the valuation of Futures Technologies Ltd. as at the beghming of
November 2016. On 8 November 2016, Futures Technologies Ltd.’s shares closed the day at a price of Sh.25.72 per
share. The company experienced a severe cyclical contraction in consumer electronics division i tne year 2016
resulting in a loss of Sh.1.94 per share which prompted Diana Kamau to normalise earnings. Diana believes that the
period between the year 2010 1o the year 2015 reasonably captures average profitability over a business cycle. Data on
earnings per share (EPS), book value per share (BVPS) and return on equity (ROE) are as follows:

Year 2016 2015 2014 2013 2012 2011 20190
EPS {1.94) 2.11 1.15 0.87 1.16 0.55 .14
BVPS 13.87 16.62 9.97 11.68 6.57 6.43 6.32
ROE NM 0.129 0.104 0.072 0.168 0.083 0.179
Where:
NM = Not meaningful
EPS = Earnings per share
BVPS = Book value per share
ROE = Return on investinent
Required:
(i) Normal EPS for the company based on the historical average EPS, (1 mark)
(ii) Price to earnings (P/E) ratio based on the estimated normal EPS in {b) (i) above. {1 mark)
(iii} Normal EPS for the company based on the average ROE method. (1 mark)
(iv) P/E based on the normal EPS obtained in (b) (iii) above. (1 mark)
(v} Explain the source of the difference in the normal EPS calculated under the average ROE methed and the
historical average EPS method. Contrast the impact of the difference on the estimated normal P/E ratio.
(2 marks)

Moses Agina is considering valuing AGZ Lid. using the H-Model approach. The relevant inputs for valuation are as
follows:

I Current dividend per share is Sh.1.

2. The dividend growth rate is 29.28% declining linearly over a |16-year period to a final and perpetual growth
rate of 7.26%.

3 The risk-free rate is 5.34%.

4. The market risk premium is 5.32%.

3. The beta estimate is 1.37.

Required:

(i) The required rate of return for the company. (2 marks)

(i) The per share value estimate of the company using the H-model. {6 marks)

(Total: 20 marks)

QUESTION FIVE

(a)

(b)
(c}

Describe the following terms in relation to equity markets:

(i) Quote-driven market. (1 mark}
(ii) Electronic crossing networks. {1 mark)
(iii) Brokered markets. {1 mark)
Summarise four services that could be provided by securities brokers in your country. {4 marks)

The following information retates to Quadrant Limited Securities trades in a given week in the month of April 2017:

s On Tuesday. the share price of Quadrant Limited closes the day at Sh.20 per share.

. On Wednesday morning before the market opens, the equity manager decides to buy Quadrant Limited's
shares and submits a limit order for 1,000 shares at Sh.19.95. The price does not fall to Sh.19.95 during the
day, so the order expires unfulfilled. The share closes the day at $h.20.03.
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(d)

. On Thursday, the order is revised to a limit of $h.20.06. The order is partially fiiled that day as 800 shares av
bought at $h.20.06. The commission is Sh.18. The share closes at Sh.20.09 and the order for the remaining
200 shares is cancelled.

Required:

(i) The gain or loss on the paper portfelio. (2 marks)
(ii} The gain or loss on the real portfolio. (2 marks)
(i) Implementation shortfall. (2 marks)

Johnson Simiyu, an investment consultant has been approached by the management of Zee Ltd., a private company, to
assist in valuation of Zee Ltd. The firm has an annual sales of Sh.200 miillion. Johnson Simiyu assumes for the next
twelve months that Zee Ltd."s revenue will increase by the long-term annual growth rate of 3%. He also makes the
following assumptions:

1. Gross profit margin will be 45%.

2. Depreciation will be 2% of revenues.

3. Selling, general and administration expenses are 24% of revenues.,

4. Capital expenditure will be 125% of depreciation 1o support the current levels of revenues,

5. Additional capital expenditure of 5% of incremental revenues will be needed to fund future growth.

6. Working capital investment equals 8% of incremental revenues.

7. Marginal tax rate is 30%.

Required: _

The free cash flow to the firm (FCFF). (7 marks)

(Total: 20 marks)

.........................................................................................................
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KASNEB

CIFA PART 1§ SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 24 November 2016, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings,

QUESTION ONE

{(a)

(b)

()

(d)

Describe the following types of orders which coutd be made while trading in equity securities at the securities
exchange of your country:

(i) Market order. {1 mark)
(ii) Limit order. (1 mark)
{iii} Sell-stop order. (1 mark)
{iv) Stop-limit order. (1 mark)
(v) Fili or Kill {(FOK) order, (1 mark)

Consider an order-driven system that allows hidden orders. The following four sell orders on a particular stock are
currently in the system’s limit order book:

Order Number Time of arrival Limit price Special instructions
(HH:MM:SS) (Sh.) (if any)
w 9:42:01 20.33 None
X 9:42:08 20.29 Hidden order
Y 9:43:04 20.29 None
Z $:43:49 20.29 None

Where: HH — Hours
MM — Minutes
SS — Seconds

Required:
Citing appropriate reasons, determine which of these orders would have precedence over others based on the
commonly used order precedence hierarchy. {3 marks)

Philip Kisero purchased 1,000 shares of Kilimo Limited at a price of Sh.32 per share. The shares were bought on
75 percent margin. One month later, Philip Kisero had to pay interest on the amount borrowed at the rate of 2 percent
per month. At that time, Philip Kisero received a dividend of Sh.0.50 per share. Immediately after that, he sold the
shares at a price of Sh.28 per share. He paid a commission of $h.500 on the purchase and a commission of $h.500 on
the sale of the shares.

Required:
The rate of retumn on this investment for the one-month peried, (5 marks)

An analyst has gathered the following information about Surex Limited’s shares trading at the securities exchange:

1. Current market price per share $h.22.56

2. Current annual dividend per share (DPS) Sh.1.60

3. Annual dividend growth rate for years | — 4 9%

4, Annual dividend growth rate for years 5 to perpetuity 4%

5. Required rate of return 12%

Required:

Using dividend discount model, determine whether the shares of the company are undervalued, fairly valued or

overvalued. {7 marks)
{Total: 20 marks)
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QUESTION TWO

- (@)

(a) Highlight five characteristics of private equity that make it attractive as an investment vehicle for high net wenh
investors in your country. (5 marks)
(b) John Odhiambo, an investment analyst at Coblar Capital Investment Limited has gathered the following intormation
relating to a private company that he intends to analyse:
. Risk-free rate 1.00%
2. Beta of the company 1.50%
3. Equity risk premium 6.00%
4, Small stock premium 4.00%
5. Company-specific risk premium 1.50%
6. Industry risk premium 1.20%
Required:
The required rate of return of the private company using:
(i) Capital asset pricing model (CAPM). (1 mark)
{ii) Expanded CAPM. {2 marks)
(iii} Build-up approach. {2 marks)
(<) (i) Explain four strengths of residual income valuation model that is used in determining the value of shares.
{4 marks)
(ii} The following information relates to Fuji Limited, a company quoted at ISDAQ stock exchange:
. Current book value per share Sh.12.90
2 Current market price per share Sh.32.41
3. Expected long-lerm return on equity (ROE) [0%
4. Expected growth rate per year 8%
Assume that the cost of ;:quity is 9%.
Required:
The intrinsic vatue of the company’s share using the residual income model. (3 marks)
(d) Explain the following terms in relation to equity securities valuation:
() Blue Chip stocks. (1 marks
(ii) Income stocks. (1 mark)
{iii} Cyclical stocks. (1 mark)
(Total: 20 marks)
QUESTION THREE
Evaluate four advantages of fundamenal analysis. (4 marks)
(b) The following information relates to Pepine Limited, a global food retailer specialising in hypermarkets and

supermarkets:

1. Current market price per share (MPS) Sh.56.94

2. Dividend growth rate 8.18%

3. Risk-free rate 5.34%

4. Equity risk premium 5.32%

5. Equity beta 0.83

6. Current dividend per share (DPS) Sh.0.575

7. Earnings per share (EPS) Sh.1.837

Reqguired:

(i) Justified tratling and leading price earnings (P/E) ratio based on the Gordon growth model. {4 marks)

(ii) Based on the justified trailing P/E ratio and actual P/E ratio computed in (b) (i) above, determine whether the
firm is fairly valued, overvalued, or undervalued. (2 marks)
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(c)

(d)

Momentum Enterprises Limited has free cash flow to the firm (FCFF) of Sh.700 million and free cash flow to equity
(FCFE) of S$h.620 million, The company’s before-tax cost of debt is 5.7% and its required rate of return for equity is
11.8%. The company expects a target capital structure consisting of 20% debt financing and 80% equity financing.

The tax rate is 30% and FCFF is expected to grow forever at a rate of 5.0% per annum. The company has an
outstanding debt with a market value of $h.2.2 billion and has 200 million outstanding ordinary shares,

Required:

(i) The weighted average cost of capital (WACC) of the company. (2 marks)
(i) The value of Momentum Enterprise Limited’s equity using the FCFF Valuation approach. (3 marks)
(iii)  The value per share using FCFF approach. (2 marks)
Examine three limitations of Gordon growth model (GGM). {3 marks)

{Totzl: 20 marks)

QUESTION FOUR

(a)
(b)

(c)
(d)

In the context of industry analysis, discuss four stages of the industry life cycle. (8 marks)

Simon Mwenda, a financial analyst from Fincap capital has analysed that Jimliza Holdings has after-tax operating
cash flows of Sh.90 million, non-current assets of $h.650 million and non-cash working capital of Sh, 100 million. The
non-current assets are five years old and the inflation rate during the last five years has been 2%.

The remaining useful life for the assets is 10 vears.

Required:
The company’s cash flow return on investment (CFROI). (5 marks)
Explain the term “sustainable growth rate”. (2 marks)

An investment analyst has gathered the following information regarding two companies: company A and company B:

Company Return on assets (%) Dividend Payout ratio (%) Equity Multiplier

A 12 75 1.20

B 12 50 1.65

Required:

(i} The sustainable growth rate for each company. (4 marks)

(i) Identify the factors that could cause the difference in the sustainable growth rates between the two
companies. {1 mark)

{Total: 20 marks)

QUESTION FIVE

(a)

(b)

(<)

The model selected by a financial analyst has a significance effect on equity valuation.

In relation to the above statement, highlight the broad criteria that could be used in selecting equity valuation model.

(3 marks)
(i) Explain the term “technical analysis” as used in equity valuation, {1 mark})
(ii) Discuss three principles underlying technical analysis. (6 marks)

Hills Ltd’s current share price is Sh.49.86. It also has a price-to-book (P/B) value of 3.57 and book value per share of
Sh.13.97. Assume that the single stage growth model is appropriate for valuing the company. The firm’s beta is 0.80,
the risk-free rate is 5.0%, and the equity risk premium is 5.50%.

Required:
(i) If the growth rate is 6.0% and the return on equity (ROE} is 20.0%, determine the justified price-to-book
(P/B) value for the company. {2 marks)
(ii) If the growth rate is 6.0%, determine the ROE required to yield the company’s current P/B value. (2 marks)
(iii) If the ROE is 20.0%, determine the growth rate that is required to have the company’s current P/B value,
{2 marks)
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{d)

Rehema Mwatate, a CIFA graduate, is using economic value added (EVA) and market value added (MVA) to
measure the performance of Minet Lid.

Additional information:

1. Adjusted net operating profit after tax (NOPAT) is Sh.100 million.

2. Total capital is $h.700 million (no debt).

3. Closing market price per share is $h.26.

4. Total shares outstanding is 84 million.

5. The cost of equity is 14%.

Required:

Calculate the following for Minet Lid.:

i Economic value added {(EV A). (2 marks)

(i) Market value added (MV A). {2 marks)
(Total: 20 marks)
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KASNEB

CIFA PART 1l SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 26 May 2016, Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings. '
QUESTION ONE
(a) Distinguish between the following types of equities returns:
(i} “Required rate of retum” and “expected rate of return™. (2 marks)
(i) “Holding period return” and “realised return”, (2 marks}

(b)

(c)
(d

Examine four factors that should be considered by individual and corporate investors while ¢ *fding whether to
invest in foreign equity securities. {4 marks)

Explain how Michael Porter’s five competitive forces could affect the financial forecast of a company. (5 marks)

Joshua Chitema, an equity and investmenis analyst for an investment bank is reviewing BTP Ltd., a small cap firm
whose shares trade thinly on the over the counter {(OTC) market. He compiles the data presented below and
estimates the forward looking equity risk premium using the Gordon growth model. To the risk premium computed,
he adds 1.50% to account for the additional small firm risk premium associated with BTP Ltd. The following data is
provided relating to the Gordon growth model:

*  Current price level of the market index 1,480.00
+  Current year's dividend on the market index Sh.31.25
*  Year ahead forecasted dividend on the market index Sh.33.60
* Long term earnings growth rate for the market index 6.00%
*  Current long-term government bond yield 4.00%
*  Current short-term government bond yield 2.75%

Joshua shows his computations to the firm’s Chief Investment Officer (CI1O) who suggests that the macroeconomic
model with supply side analysis using the Ibbotson-Chen Model provides a better estimate for BTP Lid.'s risk
premium. The CIO suggests that BTP Ltd. commands a 0.75% risk premium for its thin trading in addition to the
small firm risk premium that Joshua has already considered. The relevant data is presented below:

Expected growth rate in real earnings per share (EPS) 3.00%

Expected growth rate in price to earnings {(P/E) ratio 1.50%

Expected income component 2.50%

Expected Treasury Inflation Protected Securities (TIPS) yield ~ 2.15%

Expected inflation 1.81%

Required;

(1) The risk premium for BTP Ltd. share using the Gordon growth model, (3 marks}
(i) The risk premium for BTP Ltd. share using the macroeconomic model factoring in the relevant adjustment,

(4 marks)
(Total: 20 marks)
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QUESTION TWO

(a) Highlight three roles that an investment and finance professional might play in the equity valuation process.(3 marlis)
{b) The following information relates to Mimo Lid:
1. Net profit margin is 22%.
2. Sales in year zero are Sh.15 million.
3 Fixed capital investment in year zero is Sh.4 million.
4, Depreciation in year zero is $h.5 million.
5. Working capital investment as a percentage of sales is 8.5 %.
6. Tax rate is 30%.
7. Interest expense on Sh.20 million par value debt in year zero is 11.5%.
8. Weighted average cost of capital (WACC) during the high growth phase is 20%.
9. Weighted average cost of capital (WACC) during the mature phase is 16%.
10. Net income, fixed capital investment, depreciation, interest expense and sales are expected 10 grow at a rate
of 12% for the next 5 years and then stabilise at a longer term constant growth rate of 6%,
Required:
(i) The value of Mimo Ltd. using free cash flow to the firm (FCFF) approach. (8 marks)
(i) Describe two sources of error in the application of the free cash flow model when valuing equity securities.
(2 marks)
(c) A newly employed CIFA graduate has been provided with the following data relating to Teen Ltd. for the year
ended 31 December 2015:
= Total invested capital Sh.10.5 million
s Debt to equity ratio 0.6
s Cost of equity 8%
* Before tax cost of debt - 5%
¢ Taxrate 30%
+  Eamings before interest and taxes Sh.1.3 million.
Note: Research and deve]opmént expenditure amounting to $h.270.000 has been deducted to arrive at the earnings
before interest and taxes (EBIT).
Required:
(i) The company’s residual income. (3 marks)
(in) The company’s econemic value added (EVA). (4 marks)
(Total: 20 marks)
QUESTION THREE
(a) Evaluate three investment situations in which an investment analyst could appropriately use price-to-book (P/B)
ratio in valuation. (3 marks}
)] Salim Hasan, an equity analyst at Beta Capital, has gathered the following data regarding Patels Limited which is

quoted at the securities exchange:

s Current market price per share (MPS) Sh.60

*  Current year earnings per share (EPS) 5h.5

¢ Current year dividend per share (DPS)  Sh.2.25

¢  Required rate of return on equity 10%

s  Dividend growth rate 5.5%

Required:

(i) The justified trailing price-to-earnings (P/E) ratio. (2 marks)
(ii} The justified leading price-to-earnings (P/E} ratio. (2 marks)
(iii) Determine whether the company is currently under-valued, fairly-valued or over-valued. (1 mark)
(iv) Summarise three weaknesses of price-to-earnings (P/E) ratio. (3 marks)
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(c) Benson and Benson Limited (BBL) is expecied to grow at the rate of 30% for the next five years. After that, competiticn
is expected to lower BBL's growth rate to a constant growth rate of 7% per annum indefinitely. The market risk premium
is 6% and the risk free rate is 5%, BBL’s beta is 1.5 and the company just paid a dividend of Sh.2.50.

Required:

The current value of BBL’s share. (7 marks)
(d) Differentiate between “growth relative to gross domestic product (GDP) approach” and “market growth and market

share approach™ as used in industry and company analysis. (2 marks)

{Total: 20 marks)

QUESTION FOUR

(a) (i) Examine four principles of Dow theory in relation to technical analysis. {4 marks}
(ii) Explain the reasoning behind “support level” and “resistance fevel” in relation to technical analysis.
{4 marks)

(iii) The exhibit below relates to Fairmall Limited, a company quoted at the securities exchange with a 50-day
Moving Average and Relative Strength compared to Standard and Poor (S&P) industrials with 50-day
imoving average for the year 2014 and 2015:
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Required:
Interpret the chart output lines labelled t to 4 in (a)(iii) above. (4 marks)
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(b)

(c)

Kendagor COndigo, an equities analyst at Fiduciary Capital, is analysing Fast Technologies Limited which deals »with
computer software. The following are the sales data for the existing software and the new software which was
launched in the year 2015 and which is expected to caich the attention of the market:

2015 2015
Sh.million Sh.million

Existing software: New software:
Individual sales 2,640 Individual sales 45
Corporate sales 400 Corporate sales 0

3.040 45
The equities analyst intends to forecast the year 2016 sales using the following assumptions:
1. Individual sales of the new software will increase by 375% in the year 2016, but the new software will not

be adopted by corporate customers.

2. Sales of existing software to corporate customers will remain static,
3. Sales of existing software to individuals will shrink by 25% as a result of the new sofiware.
Required:
The total estimated revenue from the software business in the year 2016. (4 marks)

Evaluate four factors that could affect an industry on a temporary basis but might not determine the industry
profitability and structure in the long run. (4 marks)
{Total; 20 marks)

QUESTION FIVE

(a)

(b)
(c)

(d)

The following information relates to twoe manufacturing firms, Hapeo Limited and Texlex Limited, and the Standard
and Poors’ (S&P} industrials average:

. Hapco Limited Texlex Limited S & P Industrials average
Price to earnings (P/E) ratio 30 27.00 18.00
Expected annual growth rate 0.18 .15 0.07
Dividend yield 0.00 0.01 0.02
Required:
(i) The growth duration of each company share relative to the S & P industrials average. (3 marks}
(ii} The growth duration of Hapco Limited relative to Texlex Limited. (2 marks}
(iii) Comment on your investment decision based on the growth duration obtain in (a)(i} and {a)ii) above. (2 marks)
Compare and contrast public company valuation and private company valuation. (3 marks)

The following information is relevant for valuation of Panha Corporation:

*  Working capital balance S$h.50,000,000

*  Fair value of fixed assels Sh.75,000,000

¢ Book value of fixed assets Sh.60,000,000

¢ Normalised earnings of firm $h.25,000,000

¢ Required return on working capital 10%

¢ Required return on intangible assets 12%

¢  Required return on fixed assets 8%

*  Weighted average cost of capital 10%

* Long-term growth rate of residual income 6%

Required:

Using the excess earnings method, determine the following:

(i) The value of Panha Corporation’s intangible assets, (3 marks)
{ii) The market value of invested capital. (2 marks)
Highlight five steps of the equity valuation process, {5 marks)

{Total: 20 marks)
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KASNEB

CIFA PART I1 SECTION 4
EQUITY INVESTMENTS ANALYSIS
THURSDAY: 26 November 2015. Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.
QUESTION ONE
(a) Evaluate four elements that the financial analyst should consider when performing an industry analysis of a given

company. (8 marks)

(b) Pebbley Limited has a return on equity (ROE) of 6.4%. Its projected earnings per share (EPS) and dividend per share
{DPS) are Sh.8 and Sh.3 respectively. The discount rate is assumed to be 8%.

Required:
(i) Retention ratio. (2 marks)
(i) Sustainable growth rate. (2 marks)
(i) The value of the company’s share. (2 marks})
o~
) Justify three reasons that could make companies in the same industry to have different price earnings (P/E) ratios.

(6 marks)
(Total: 20 marks)
QUESTION TWO

(a)y (D) Among the most familiar and widely used valuation tools in equity valuation are price multipies. Justify why
* price multiples are used in equity valuation. (2 marks)
(i) Zawadi Designers Limited’s shares are selling for Sh.25 per share. Earnings for the last 12 months were Sh.1
per share. The average trailing price earnings (P/E) ratio for firms in Zawadi Designers Limited's industry is
32 times.
Required:
Using the method of comparables, determine whether Zawadi Designers Limited’s share is overvalued or
undervalued. (2 marks)
b Highlight two advantages of using the price-to-cash flow (P/CF) ratio as an equity valuation tool. (2 marks)
{c) The following data was gathered by Ezekiel Rono, an equity analyst who researches for Redline Company:
~ 1. Dividend payout ratio = 75%
2. Return on equity (ROE) = 18%
3. Earnings per share (EPS) = 5h.5.50
4. Sales per share = Sh.350
5. Expected eamings/dividends/sales growth = 4.5%
6. Shareholders required rate of returm = 15%
Required: .
The firm’s justified price-to-sales (P/S) ratio multiple. (2 marks)
) The following information is provided: e
Company Book value of Shares
equity 2014 Sales 2014 outstanding 2014 Price
Sh. “million” Sh. “million” Sh. “million” Sh.
Mavuno Limited 39,900 64,746 12,324 62.74
Ndovu Limited 122,040 64,374 21,542 51.26
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Peer Group Mean
Price-to-book
(P/B}

Pharmaceuticals 11.244

Computer applications software 8.20

Median Mean
Price-to-book Price-to-sale {P/S)
{P/B) Sales Sh. “million”
8.50 17.416

4.28 6.84

Median
Price-to-sale ‘2/8)
Sales Sh. “million®
9.06

288

Mavuno Limited belongs to the pharmaceuticais group and Ndovu Limited belongs to the ccinyputer applications

software group.

Required:

(i} The current price-to-book {P/B} ratio for each company. (4 marks)

{ii) The current price-to-sales (P/S) ratio for each company. (4 marks)

{iii} Determine whether the share is overvalued. fairly valued or undervalued for each company based on the
resuts obtained in (d) (i) and (ii) above. {4 marks)

QUESTION THREE

{Total: 20 marks)

(a) Distinguish between a “firm’s free cash flow” and a “*free cash flow to equity™. {4 marks)
{b) The following information is available for Mapambo Limited:
Capital expenditure Sh.20 million
Corporate tax rate 30%
Debt repayment Sh.23 million N
Depreciation charge Sh.10 million
Income statement:
Sh. “million”
Sales 650 .
Less: Cost of sales {438}
212
Operating expenses (107.5)
104.5
Less: Interest expenses (8)
Earnings before tax 96.5
Less: Tax 28.95
Net inceme 67.55_
Required:
(i) Free cash flow to equity. (4 marks)
(ii} Free cash flow to the firm. {4 marks?}
(<) Summarise four advantages and four challenges of technical analysis. {8 marks)
(Total: 20 marksl\
QUESTION FOUR
(a) The following information relates 10 Wageni Litd.:
1. The company reported before tax operating income of $h.21 million for the year ended 31 December 2014.

This was after charging Sh.4 million for development and launch cost of a new product that is expected to

generate profits for 4 years.

2. The company has a risk adjusted weighted average cost of capital (WACC) of 12%.
3. The company is paying interest at a rate of 9% per annum on a substantial long-term loan. The interest is not
charged as expense in the operating income in note 1 above,

4, The company’s non-current assets value is Sh.50 million. —

5. The net current assets have a value of $h.22 million,

6. The replacement cost of the non-current assets is estimated to be Sh.64 million.

7. Corporate tax rate is 30%.

Required:

(i) The company’s economic value added (EVA). {6 marks)

(ii) The company’s residual income (RI). (4 marks)

{iii) Comment on the results obtained in (a) (i} and (ii) above. (2 marks)
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(b The following information relates to Platinum Limited. a private firm:

1. Working capital balance = 5h.4,000,000

2. Fair value of fixed assers = Sh.11,000,000

3. Book value of fixed assets = Sh.8,000,000

4, Normatised earnings of firm = $h.2,000,000

3. Required rate of return on working capital = 5 per cent

6. Reguired rate of return on fixed assets = § per cent

7. Required rate of return on intangible assets = 15 per cent

8 Weighted average cost of capital = 10 per cent

9. Long-term growth rate of residual income = 5 per cent

Required:

Using the excess earnings method (EEM), determine:

(i The value of intangible assets for Platinum Limited. {4 marks)

(ii} The market value of invested capital. {2 marks)
(c) Describe two steps of the top-down approach of equity valuation. (2 marks)

{Total: 20 marks)

QUESTION FIVE
ia} An investment analyst plays a critical role in collecting, organising and communicating corporate information and to
some extent recommending appropriate invesiment action based on sound analysis.

~
In relation to the above statement, describe six features of an effective research report. (6 marks)
(b) The following information relates to Golden Star Limited, a company quoted at the PAQUA Securities Exchange:
1. The current market price per share is 5h.28.27.
2. The most recent quarterly dividend per share is $h.0.2.
3. Over the coming vear, two more quarterly dividends of Sh.0.20 are expected. followed by two quanerly
dividends of Sh.0.22 per share.
4, The company has a required rate of retum on equity of 3.5%.
5. The target price per share is $h.32 over the one year period.
Required:
(i) One-year expected return of the company. (3 marks)
(it} The target price if the company is fairly valued. Ignore returns from reinvesting the quarterly dividends.
(3 marks)
<) (i) The following information relates to Zelion Limited:
1. Current market price per share Sh.36.
2. Last dividend paid Sh.2.40,
EN Required rate of return 12%.
m 4. The dividends are expected to grow at a constant rate in the foreseeable future.
Required:
The expected share price 5 years from now, (4 marks)
(i) Discuss two strengths of the two stage dividend discount model (DDM) compared to the constant growth

dividend discount model.
(4 marks)
(Total; 20 marks)

........................................................................................................
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KASNEB

CIFA PART Il SECTION 4
EQUITY INVESTMENT ANALYSIS

PILOT PAPER

September 2015, Time Allowed: 3 hours.

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings.

QUESTION ONE

(a)  Briefly explain the following terms as applied in equity investment evaluation:
(i) Intrinsic value, (2 marks)
(il  Going concern value. (2 marks)
(iti)  Fair market value. (2 murks)
(iv) Investment value. 2 marks)

(b)

(<)

In a research note on the ordinary shares of Rivet Fashion Group (RFG) dated carly July 20135, when the share price was
Sh.700 and projected annual dividend was Sh.50, an analyst started a target price of $h.920. The research note did not
explain how the target price was obtained or how it should be interpreted. Assume that the target price represents the
expected price of RFG.

Required:
Describe any further information that you would nced 1o form an opinien on whether RFG was fairly valued or
undervalued, (4 marks)

Historical estimates of the equity risk premium in developing markets are often attended by a range of concerns. In cne
of the markets, a number of equity indexes are available and each has possible limitations. Although not as broad-based
as the alternatives, the stock exchange index {Sensex 30) returns, a market capitalization weighted index of the shares of
30 leading companies. the largest available record compiled since 2006, go back to 1999. Note the following facis
concerning the index and other relevant information to estimating the equity risk premivm:

1. The backfifled returns from 1999 to 2005 are based on the initial 30 issucs selected in 2006, which were among
the largest market-caps as of 2006.

2. The Sensex is a price index; a total return version of the index incorporating dividends is available from 2007
forward.
3. Interest rates were suppressed by regulations prior to 2011 and moved higher thereafter. The post-regulation

period appears to be associated with higher stock market volatility.

4, Objective estimates of the extent of any bias can be developed.

Required:

Based on the information given, explain the following:

(i The factors that could bias an unadjusted historical risk premium estimate upwards. {2 marks)
(ii) ‘The factors that coutd bias an unadjusted historical risk premium estimate downwards. (2 marks)
(iii) Two indications that the historical time series is non-stationery. (2 marks)

(iv)  Whether the historical or an adjusted historical equity risk premium is preferable. Justify your answer. (2 marks)
(Total: 20 marks)
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QUESTION TWO

(a)  Explain the five steps involved in equity valuation. (10 marks}
(b)  Shitieka, an investment analyst at Value Trackers Fund is researching on Kapu Oil Limited’s shares to esiimate a
required return on equity. Kapu Oil Limited has no long term debt, Shitieka uses an equally weighted average of the
capital asset pricing model (CAPM) and Fama French Model (FFM) estimates, unless one method appears 10 be
superior as judged by a more than five point difference in the adjusted R®, in which case, only the estimate with
superior explanatory power is used. The cost of equity information for Kapu Qil Limited is providad below. All the
beta estimates are significant at 5% level.
CAPM and FFM required return estimates
Kapu Oil Limited
Model A Model B
I. Current risk free rate 4.7% 4.7%
2. Beta 1.04 1.14
3. Market (equity) risk premium 5.5% 5.3%
Premium for stock (2) x (3) 5.72% 6.27%
4, Size beta - -0.222
5. Size Premium (SMB) - 2.7%
Premium for stock (4) x (5) - -0.60%
6. Value beta - -0.328
7. Value premium - 4.3%
Premium for stock (6) x (7} - -1.41%
R’ 0.34 0.35
Adjusted R 0.33 0.32
Additional information:
Value Trackers Fund holds positions for 4 years on average. Shiticka has determined that the market place will favour
growth oriented equities over the coming year, Reviewing all the information, Shiticka makes the following slatements:
1. Kapu Oil Limited’s cost of capital benefits from the company’s above average market capitalisation, which
offsets the stock’s above average risk premium for market risk.
2. If our economic unit’s analysis is correct, growth-oriented portfolios are expected to outperform value-oriented
portfolios over the next year. As a consequence. we should favour the CAPM required return estimate over the
Fama French estimate,
Required:
(a)  Estimate Kapu Oil Limited’s cost of equity using:
(i) Capital asset pricing model (CAPM}. 2 marks)
(iiy  Fama-French model. 2 marks)
(b}  Assess whether Shitieka’s first statement concerning Kapu Qit Limited's cost of equity is accurate. {3 marks)
(¢)  Assess whether Shiticka's second statement concerning the expected relative performance of growth oriented
portfolies and the use of the CAPM and FFM required return estimates, is correct. {3 marks)
(Total; 20 marks)
QUESTION THREE
(@) The shares of Xtronics Limited are selling for Sh.30 each. The mean analysts earnings per share forecast for next year

is 5h.4.0 and the long run growth rate is 5%. Xtronics Limited has a dividend pay-out ratio of 60%. The required rate
of return is 14%,

Required:
(i) The fundamental value of the share using the Gordon growth model. (4 marks)

(i) Determine whether Xtronics Limited’s shares are oveevalued or undervalued using the method of forecasted
fundamentals. (3 marks})
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(&)

(c)

Josphine Akinyi, a Certified Investment and Financial Analysts (CIFA) student, is evaluating a purchase of Zedtum
Investment Limited. Current book value per share is Sh.12.9 and the current price per share is Sh.32.41. Josphine
expects fong term return on equity (ROE) to be 10% and long term growth rate to be 8%. '

Required:
The intrinsic value of the share using a residual income model.

NB: Assume a cost of equity of 9%.
(3 marks)

Biashara Limited was a publicly traded production company that supplied a number of products 1o the market.
Biashara Limited capitalised production costs including expenses for advertising, publicity and promotion, production
costs, salaries and fares paid to staff. The company then amortised those capitalised costs over the expected life of the
production based on anticipated venues.

Required:
(i) State the effects of Biashara Limited accounting for pre-production costs on its reported earnings per share.
(5 marks)

(i) An analyst calculated earnings before interest, tax, depreciation and amortisations {EBITDA) interest expenses
and debt; (EBITDA) based on Biashara Limited’s accounting pre-production costs without adjustment.

Explain how the analyst might be misled in assessing Biashara Limited's financial strength using the above
measure. {5 marks)
(Total: 20 marks)

QUESTION FOUR

(a)

{b)

(c)

During the period 1960-2007. carnings of S&P 500 index companies have increased at an average rate of 8.18% per
year and dividends paid have increased at an average rate of 5.9% per year,

Assume that:

1. Dividends will continue to grow at the 1960-2007 rate.

2. The required return on the index is §%.

3. Companies in the S&P 500 index collectively paid Sh.244 billion in dividends.

Required:
Estimate the aggregate value of the S&P 500 index component companies at the beginning of 2008 using the Gordon
growth model. {4 marks)

Signet Lid. has free cash flows to the firm (FCFF) of Sh.700 million and free cash flows to equity (FCFE) of Sh.620
million. The firm’s before tax cost of debt is 5.7% and its required rate of return on equity is 11.8%. The company
expects a target capital structure consisting of 20% debt financing and 80% equity financing. The tax rate is 33.33%
and FCFF is expected to grow forever at a rate of 5%. Signet Ltd. has debt outstanding with a market value of Sh.2.2
billion and 200 million outstanding common shares.

Required:

(i} Signet Lid.’s weighted average cost of capital. {4 marks}
(ii)  The value of Signet’s equity using the FCFE valuation approach. {4 marks)
(iii)  The value per share using the FCFF approach. (2 marks)

Robotics Limited’s shares are currently selling for Sh.24 and have paid a dividend of Sh.l per share in the most recent
year.

The following additional information is given:

1. The risk free rate is 4%,
2. The shares have an estimated beta of 1.2,
3 The equity risk premium is estimated at 5%.

Required:
The constant dividend growth rate that would be required 1o justify the market price of Sh.24. (6 marks)
(Total: 20 marks)
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QUESTION FIVE

(@)

®

[n a valuation of a financial services company, a business appraiser estimated four values for the company using four
different approaches.

Required:
Explain four approaches to the valuation of a financial services company. 8 marks)

Shamira, a financial analyst, decides to use the Guideline Public Company Method (GPCM) to develop vaiue indication
for Able Limited that is independent of the Free Cash Flow (FCF} indication. He believes that many acquirers apply a
multiple of market value of invested capital to EBITDA to value companies in Able Limited's industry. A search for
comparable public companies indicated several companies that might serve as guidelines or benchmarks for valuing
Able Limited. However, all of these companies were much larger than Able Limited. His research on guideline public
companies indicates the following:

1. The market value of invested capital (MVIC) 10 EBITDA multiple of such public companies averages 7.0.

2. A combined downward adjustment of 15% for relative risk and growth characteristics of Able Limited compared
with the GPCM suggests an adjusted MVIC to EBITDA multiple of 5.95 rounded 1o 6 for Able Limited.

3. A control premium of 20% was reported in a single strategic acquisition several years ago. The transaction
involved an exchange of stock with no cash consideration paid.

4, Shitakuli is not aware of any strategic buyer that might incorporate synergies into their valuation of Able Limited.

5. Normalised EBITDA is $h.16,900,000.
6. Market value of debt capital is Sh.2,000,000.

Required:
(i) Explain the elements included in the calculation of a pricing multiple for Able Limited. (4 marks)

(i)  Calculate the pricing multiple appropriate for Able Limited including a control premium adjustment. (4 marks)
(iity  Calculate the value of Able Limited using the guideline public company method (GPCM}. (4 marks)
(Total: 20 marks)
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ADVANCED FINANGE, INVESTA ENT AND EQUITY ANALYSIS

 THHRSDAY: 28 May 2015, Time Altewed: 3 honrs,

Ansver ALL guestions. Marks allaeated (0 each questian ave shown o the endt of ihe questivn. Show ALL yowr workings,

QUESTION ONE
fhie health cire industry, evilwale four foctors that coutd affect the iwalth care

' {a) As the clifel investsent aralyst in

industry sales, ., {8 narks)
b Outlite feur strengths of the residual incame model as nsed in equity valuation of & cempany, {4 marks)
T Johnstone Barssa, 2 secoriiies and invesiment analyst at Meya Crpitai 5 planning 10, vatue Toigple A Limiled using o

single stage free cash flaw ta the finm appraach.

He has pathered the fullowing information 2bout the company:
1 The company has 1.352 billion ardinary shares outstanding.

2. The mcket valug ¢f the company's debt is $h.3.592 billien.
3. The equity beta is 090 with g risk preptium af 5.5%.
4. The risk free eate is 5.5%,
£ The cempany's setore tax cost of debt is 7.0%.
G. The corporation tax rate is 30%.
7. The cammpany is firanced 25% with debr,
£. Free ¢ash Now for -he Gon §s $h.1.155% billion.
9. Free cash Now to 1li¢ fiem growth rale is <i_%‘
Requived: .
] Weighted avernge rost of capilat {W ACE) of the fiem, {2 marks) -
(iiy.  The value of the firm. (2 raeks}
(H)  The market value of equity. {2 mpeks)
{iv} The market value gzr share of the firm. (2 marks)
’ (Total: 20 marks)
QUESTHON TWO
(a) Describe the following term in refation to Investmen risk and fewurm
(it Risk aliccation. {l wark) -
(i) Risk response. £1 mark}
{ii) Risk monitaring. 1 inark)
L] The nt of Apollo 'n 15 Limited is constdering two najor invesintents consisting of Sh.100 million i
. technology snd Sh.100 mithion in manufactiring sectur.
The following ar¢ Lhe retuens and probabilities under different states cF economy:
1Retarns
Slate T'vobability Technolopy Maaufacturing
secltor (Yo} sector (%4}
Cirowlh 025 1 12 :
Mormal D.50 ¥ [ .
_ Rccesision- 0.25 , 4 6
Required: - e - o .
{g)q fixpected recrn of the porifalio. {3 marks)
S .
() The varfance of the partfolio. . {2 marks}
(i} The portfolio standard devintian. {1 mark}
(i) the correlation coefFicient between iz relums of the [wo [mrlfuﬁ'os_ {3 marks}
[c; Wilson Cheplanga, 0 finmucial analyst ot Beta Copital, Is annlysing the vaive of TERD Broweries Limited,

KASNEB

CH1A PART H SECTION A

L}

The follawing infaemation relates 4e Lhe company: .
. Charing the li\st_ﬂw: years, the company jpaid dividend per sliare of Shui.50, Sh 30, SK7.00, Shosow and :
Sh.0.00 respectivety. o

The above dividend_s suzgest an average snnual growih rate of above 139, .

. The anafyst has decided to use 3 hree stage dividend discount model with a linenely declining prowth raig in
i sinye e . -

Stape one pericd will be 6 years while stage wwo period will be 10 years.

The geowth role fow ilﬂge eive {s orecasted 1o be E4% while for siage threc it will be 0%

The company’s required rate of returi on equity is 16%. '

[T

: 4.
; i
. &,

fteqisired: .
The current value of a shure of TEEP Breweries Limited using H-dividend discount model. {8 marks)

(Total: 28 marks}

QUESFION THREE '
Analyse four mules altechnical rading ns postutated by John Murphy.

{a} (8 marks}

{b} The best pefornring equily meekers in the world have been found in countries will the highest econemic srowil mtes.
in relation ta the above statement, explain whether {he current growth rate should eoid: i i i

} ' 1 suide the invesior in chonsiog

equity markels if the world capital markel is efficient. ¥ {E’ :1):;:::5

© Leifa Limited has a reium on equily {ROEJ of 15% and earaings sotention ratio of .60, Nexl y{:ar;s earnings are

projected to bz $h. 160 midlion.

Eella Limited's coquired rate of rentm is $2% per annum.

Required: s

i Tengible price to camings [P/E) r,'u'iq, (2 morke) .
{iy The campany’s franchise fatior, {2 marks)
iy The company’s growth factor. €7 marks}
{iv} The company's franchise price to eanrings (P/E) ratio. {2 marks}
(W The intrinsic price to camings {P/E} ratio. (.2 mnarks}

{Total: 20 marks)

. QUESTION FOUR

ta) Summarise four fetors that cauld determing the sbility ofa firny 4o sustain its growaln A4 iarks)
1] Evaluate three methods thal could be vsed ta value a privale equity fund. {6 marks}
NG Glazep Ltd. i5 tn_nsidering_ a caplial project with the following eharacleristics:
i1 The project is estlunattd te cost Sh, | million willkk a projected usefil Hfe of 4 venrs.
3, . The project Wit generate annual afler-tax operaling ensh flows of $h,200,000 with ili
v @ ,206, a prol fo
5h.400,000 with a probability uf 0.5, for the nexi 4 years. I protibilty of 0.5 o7
1, After its usciud lfe, the project #s expected ta have & 2ero snlvage valug.
4. After realising the Brst yeac's cash flows, the company wi OpInT it sbandon e profect an
. ; 1 . any wilk have an optios H iy Ceeive
bt catonm \,:I_m e o [y eption 10 abandan the profect and receive
5 The company™s required rate of return is 0%,
' Required:
[4)] The pet presear value NPV of the project iy the “naaband " aption. {3 mearks)
(i Tire net greseat valve (NP of the project a iing the “nhand at™ aplion. {5 marks)
(i} Advise the manegement on the best aption to take, (2 marks)

(Todul: 28 smuarks}

QUESTION FIVE
t . . . .
! () The recenl rends in povernment in implementing major infrasteactural projects s tuough public-pivale parnership

(PR,
[,-{ (2

4

Explain three ieasens for adoping 1ke pablic-private pameeshin taprsach. (6 marks}
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Enumacne four main objeclives which companies seek atlzin from undennking corporate restreclunine. {4 macks)

Pike Limited, a successful engineering and consiiuciion conipany made 2 bid to acquire Ozimen Limired o the year
2014,

The following information is available for the two companies:

Pike Oriman

Limited Eimited -
Sharz price $h.i550 . Sh2§ ) .
MNumber of shares j25 milion 5& mtllion

Pike Limited made both a cash and a share bid so Oziman Limited. In the bid, 2 shares of Pike Limited were offered
for every 1 share n Oziman Limited, ar # cadiv offer of 8530 per shace in Oziman Limited.

Pike Limited expects that the take-over will generate a preseas vatue of savings worth .25 million.

Required: :

The uew value of shares in Pike Limited afier the annovacemeat of the merger plan assutming:

(iy The shares ofler. {4 marks)
(if} The eash offec, {3 marks)

(iify Using suiable computations, odvise the shareliolders o Oziman Limited on which offer o accept. )
- {3 marks)
{Tofal: 20 maris)




THURSPAY: 4 Decermber 2034,

MENT STUDIES
o et TR,

T

Answer ALL questions, Marks allocated to each question are shown of the ead of (he Guestion, Show ALL your workings,

',(0)

QUESTION ONE . -
(a) {i) Distinguish between "rebafancing” and “reconstiiution™ as applied in index management. (4 marks)
(if} Ou\liﬁe_ four uses of share market indjces, {4 marks)
{b) Home Meals Menufacturing Limited has earnings before interest and tax (EBIT) of Sh.4¢ million,
Additionsl information: - - - - R PR : o
i The company bias 8h.60 million outstanding debt with a required rate of return of §.5%.
2 The required rate of return in the industry iz 10%. -
3. The carporation tax rate is 3%, .- .
4. Assume that there are no personal taxes.
Required: . = '
€} . The present value of the inferest tax shield, {t mark}
{in The Lot velee of the firm. - o {4 marks}
~{ifi}  The gain from Jeverage, if personal taves of 1% on equily incame ard 35% on deb fllcume exist. {3 marks)
-Describe tho relationship between the required retuens on debt and on equity that resuit from Modigilani - Miller
{MM), Proposition L. ) ) . - {4 marks) -
N S {Total: 20 marks)
QUESTION TWO . ' '
(a8} Explain the Following terms as used in venture capital investment; . :
- () . Earlystage venture capital investment, - ':{2 r.nalric's}.' '
(i} - Later slage venture capital investment, - ¥ mérk.s) -
- .Toytedwaru]a. _aﬁ entreprentir _:'n Weblive town, ?ntends-to barow 5h.12 million from & venture capital fund 19.
expan I‘Eer‘,?\fm.‘an cIothiqg busmes:a line. Her business Is currently worth $k.30 miifion and she intends to float 4 fo
the publhf, in four years fime, During this period of Four years, the net lncome of the business is projected to be
%:_12% mgl_mn. \Eo;nfamge firms within Watila’s business industry sre expected to have 4 price/eamings (P/E) ratio
ol 3. Liven Wafula's business stage of developnient, the verture capital fund man /i i
annual return on theit investment, P .p - e “]I'F reduire s A% compon nd.
Requircﬂ: ' ) ' .
The [raction of funds thal the venture capital fitnd will reesive In exchange for its Sh.[12 millfon investment. (4 marks}
{ . Dianzcn& Eas_t'g&frfca Ltd. i considering to dndertske two mulually exclusive projetts. The estimatéd cash Rows and
cerlainty equivaient figures for cach project ara as shown below:
) Project ¢ Project 2
\.er Cash flaw Certainty Caslh flow Certainty -
. ) equivalent . i
Sh, “{08" ) . 5h. “go0" equeatent
: o 80,000 1] " 100,000 [&H
A [ 8,000 0.95 ’ 40,000 0.65
2 20,000 0.7% 50,000 C0ss
3 30,000 .60 ' 60,000 ) 040
4 35,000 0.50 40,000 © 030
S _dom 040 0400 035
ArfdHlonat Infarmaiion: o ) s i
i, The company intends to use the cerlainly equivalent approach o the iwo in 1 projects.
2 The cost of capital Is 12%, o :
Requoired; .
16)] The ned present value of each project. {6 marks)
(i) Advize the management or the project to invest in, {2 marls)
) d) Summarise four reasons why project developers require project financing {4 marks}

(Foiak 20 marks)

KASNEB

ADVANCED FINANCE, INVESTMENT AND EQUITY ANALYSIS CSIA PART U SECTION 4~

Fhe Alowed: 3 hours,

‘QUESTION THREE . .
Evaluate three ficters that could comribule to the degree of markes efficiency in the fnanciat marker,

@ W

()

Describe three types of marker efficiency as postulated by Fama (15703,

{6 tmarks)

{3 marks)

o) The fallowing exiracts were obtained from the financial statements of Nikk Eimited for the years 2012 and 2013:

The appropriate price/sales multiple for ABG Lad. for the year 2013,

Statement ol financial positien:

QUESTION FIVE
{a) Summeriss four reasons that might coatribate to failure of mergers.

sy Toe N T

(b} kpbwa Ltd. is comsidering to nade-inbi @ - -

. LI 2002
Sh, “Hllton® Sh. “bithon®
Mor-current asssts 15 34
i Current assels 2.3 25
Fotal asscts 62 58
Enuily and tiabilkies: )
Sharcholders® equity 2.2 1.9
Long-term debl 2l 22
' Current liabililies 19 18
i Totzl equily and liabilities 62 59
Iicome statement:
mi3 2052
Sh. “hillipn" 5h. “hijlion"
Sales 13 1.1
Net mgome a5 04
hividends 02 0.1
Regniredt
Gy Sustainable growth rate fos the year 2042, (6 marks)
{ify Actoal growth rate in the year 2013, {1 mark)
(i) Interpret the result obtairted in [b) {ii) above. {2 marks}
{iv} Comment on Nikk Limited’s financiat cendition in relatian 1o the difference between actual and sustainahle
growth rate. . {2 marks)
(Total: 20 marks)
- QUESTION FOUR )
(8} Evaluate four appreaches that could be used in the valualion of target companics. (3 marks}
&) © Distinguish berween “cash flow refum on lavestment (CEROIY and *‘Economic value added (EVA)Y". ' {4 marks)
{e) The foﬂ;)wing information relates 1o Chungwa Lid. for the year 2014:
5h. “milion™
Net eperating profil after tax 100
Beginning book value of debt 200
Begioning book vahie of equity 6o
Weighted averape cost of capltal (WACC) 11%
Requabred: B
ti) Ecoromic value added (EVA) for Chuagwa L1d, {3 marks)
L tii} Commene on the resulls obrained in (¢) (i} above. ) {2 marks)
A {dy The following infermatien refates to ABC Litd,, a lisred company at the Bahama Secnrities Exchange, for the year
2013: ) .
. Sales price per share $h.122.
. Esmings per share Sh.243,
s Dividend per shaze Sh. 112,
. Expecied growih rate in the long-tesm 6%,
. Beta of the company 1,90,
. Risk free rale 7%.
. Risk premivm 5.5%.
Required:

{3 marks)
{Fotal: 20 marks)

{4 marks)
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